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OMR TEa9[@2e 7[5 17 ST TR (5 (2 e7a (@ ol ST 1-72 T1 AN 71 T SRPAIE 2ol 02
TitE % Wi*ce F=7 FAif7 @ OMR TEI919ee (961 (D€A@ | (@Il 4301 o Aifdeet sowale Rasas
TS FE 2RPIGU FeA FF K |

egAd foriaat

« %[0 9:00 TR TNCS PP A= TP JYferd |

+  OMR TE€a91qa T2 JGCBIS MeTl/F a1l 612D (oIt @ Tt (ofee a1 anairs 2ies! st =i
NG, P9 ALACS &ATSTH! 2T To TS AT W< «HTecE (K [3ag) Tea (Wb F419 TR 0.25 A
799 2 W2 TSHTe vet 20 A W FAce SiefR@ (FIC OMR Teswia frat 71241

+ Non-Standard OMR ¥€37[@ 3219 (Faqe AT TR (ST (@ T4, LTS Fhid
T, LTI T TL6! OMRTE71aa ffr e Jize F'a Ffaa wiifa e T2 79t =Ii<: #Iieg 2Bre «bt e en
W9 FRAT6F #1 OMR Tea7i@<w fdweira o3¢ 373 #ifa | Tyt OMREGI7@a Teiae i 124 |

A FwE TS/ @ siqe wae Hiewe i1 Aifa, dhRE (SETEIE AR S
9/%° TIIT RS I BRI OMRTEI#1q Farsas el aE T | (@I AFLIE OMR Tev7[@ &l
9 TS AW S R Fa 900, (SR (H (OEERF Sig#ifge I [rfbe 231

¢ ST AT W R oite (oSERT @iF T wE FRkE bR |

AT v @A THS TTe eiFFed 791 W% AT enFFe F'C 946! OMR Tedoigd Firs Iixe
o1l 2| TAZAerTCol, eiFIFed FT 53 FAI9 TS, AATHACH 2T T4 epiFiTed FC ‘A’ AT OMR
Teaeiae [ine dize A ik wife o= [iWe 3e A" Gt ' wf<a =nfaq |

o AT AR 46T ATAGH T B! (rough) FIN 2SS Wl 21762 TR AT | 2_TFIIC 251 (rough)
JI TEIHG T T (I 41991 Floiere Fi @I | OMR Teviae ft @2 <4541 (rough) FIN 21K =R FCI
2] 390 T8 IR I, (SR (O OMR TG SR F| 723 |

¢ I LN P AHICS (FICT ¥ fomife e wizat I cotrars srjfas 20e WAG AHAITIRR 2Fe
% 3 oty 91 29

. IS BT 4 SRS (@I AT AT @ TR Tewte i w29 |

AT AT T/ W AN (@0 (VRIS (I, (AP0 Al I €707 ([Quyfess AN A
ol GTee TG AR IHETH( e SeEts al 7571 7 @I ARSI Pk Tl SReTs G Al €7
a4 1 2SR WPTE Bekel F0F, (O0F (D6F Sl It Reavel 391 29|
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OMR T&z+afb o3¢ 1 7ItK SIS SN2 [f*se 208 203 (@ 2Mioitg 1-72 211G 7T sjpiafE @ipiE
(e 200z 3% 50 00 203 (@ OMR TER@h (e O G | (T 2061 RS LRt SReTy W mwacs
RSTS TR LA2AG WeT P (0 |

« e 9:00 THH ATE eief@ #Frw FHCS Y |

+  OMRTEItad T[T JEB6Te Aet/FITEN ICAD (21 [ W e’ Dire Faaia otd 2 e 2w
(T, I 2ere aAfel 2ria Tat Tea MeTia T @R A SiEE [y Ted v #4419 = 0.25
AT 7 AT G SITe o1 (e A wa TR T (FI wfsfae OMR Teaoia (rewt 23 =1t |

Non-Standard OMRTEAIq IR L@ 21 AT SR SITHA (@I 154, 2l419|fFIa Tl 713, eieoffeaia
@S OMR Teasitad e Bt FiteT 900 T @R ANCER 2T 8 (AR 2D «Fio It @
TP {14 OMR TEa=1afs AfoFeira 27 F9re 2| T2 OMR TSGR IJETE F1 23 |

i difras FArwEs mea TufEs/ @i #Itg ¥aia Fwa S90S T3, ULTRIF O AT HHIFCF S0 A
T I @R ORI OMREEa g At Sl (reTia N | (I ATrHI OMR Tea9@ &l (heqid
IR AW RS RN FIe | PR, W12 OISy i qCe olely 1 2 |

. AR 2 el [Hne e ARERSIE Sit @F 799 S e =@ |

A oo 267t Tive AT erieitar T @3 AR eXvitad (@re T3 OMR Teasitad fHfwe i
(11 R | TRiEReTTRel, 2piolta (I <fae a1 77, 2IAridra “\eTi ehieitas (1S ‘A’ 2ARRCe OMR Teavitad
ffre =i A forate =7 @3 72 3e A 6 FiteT Fate =31

AT e LA 2ATTG T AT (rough) FIS LRITE (RSN BT TS AR | AT 278! (rough) e
OMR TG9[q I O (I LR FI9NCS TS AR a1l | 77 AT @ 497G (rough) 1% OMR TER09
TR AW 6 IR PR, O (12 OMR TR/ eI T 203 A1 |

«  STHR TGS q ACHACE (I LA SO TS 20 24! (QRTE SPIf! 2o TRANEn AFAe a2 eiFe g e
N°f 1 AN

o 2T BARE I (I AT S ® O7ls TR SRS (e Z@ A |

ATTHILIR TR 231/FCF I g AN (@5 GIRIZSA (P, TAFEGS G (I @i Siee At
wsifea AN 20 T2 ST TS RS IR A | ARFRTIE AW G SRR AR SRETH TS (Rl
I 31 S M TR SRS AT FTPTR Gelk S IR, O SITR SIClaly (1=l 1 23 |
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OMR ftr=t feretTs@t 31rel Wremera fam=r, fasmforan st wemate g, 1-72 fam midst feergwr
Hiter ferstrarea Wi Yerar-ma § 3 OMR fi= faremgan maft ararae’ o sSrumEist wramafer s |
UTETHR S-S WiTsAT Tifer forstreet Wemramr gt orare FrfeiieEt aremr fafemn

T feren
o i 9:00 Fami et Hiftyr foemgat meie @emaTe @aHt ST |

« OMR fF faemsf g sSwmTa e,/ M seug< semst e freEt fas gematt fanst
HIfoREt WSS WIEAT AT, AT Aferme: mewmet qifaf mate et aram :mr aeat
i R AR At arEr 0.25 SR TR AR TR A feRe: MR Sreieet uer i Wrermfte=r
JTETT el 3% TR foeTs e S e

« Non-Standard OMR Tt faretrg st fafereTta fasnforam drard maft @ e, @ity faemesf wift
., Aifer faemsf st OMR fFa faeet Bramma SrErTreTe M e geie R fanfatt
foerzama ot SAfusTai faemgara dd gi@r o foam (emfsmT ) faem s e et
M| TSTeAT OMR fif faeEg@t Sse. AT S ST

o TaforRRT T |iE AT A | o S GUEE g el e ST i SHre fesme
oz 21T OMR TR fareret Temaa T@e | OMR TR foretg o1 Gify faemsal memamm T fesnfern
g BreTese foal e SEaRgH A B THEA™ ST |

o Hifer forezara e forama ST fesmtea e Maft T Tl feE e |

« Gify faemst TR m Aty faenezf s TreEt OMR fFm faemsf Sremm srermeme faamat
R ferstera I s T fafefo aifed, wity faemst s one e JH e fesmten
e Gity faemst s ‘A s OMR iR feemsf gramma wrermare ‘A faer =i e
G TG ‘A T T ETeArss=y i |

o foenfermr migst I@mf T SR WA TREPAR (rough) TMEIHET Qi faemst Sramm srermerers
WA A | SRRt e TR "l i faere wen fafe 1em Ikmft o foegama
WA A €T TR foemsare o Qe TRFARE™ (rough) @rETfRat fersifern wretmisen T foret
ferfa (overwriting) BTATHISAT T TTHL TMeRAT (whitener) OMR TR feremzamar wiHsen & OMR fiFe faremsat
A ™ ST |

o Wity foemet foei Tan wWHEAEe el TR STEeAr T Ji HA-rre a1 Siarsel gt
TS RIATEATT Wi faergEi=T s S THEET S S |

o 3THSIE TR AFR GH1E Tas foeimgt sTsieffel TRAT aiFafT TR S S e |

o STFSTETIfE/aTaTe FRa forsTerssT e M= gar sk el %, shetgheler e fafe I@mf AR seishef e
a1 sTeEee faf fasmferdt <H 2Fm S |
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OMR ITR-Uh hl WA & Uger Uietreft o gifyed ot o foh uv-ufent  1-72 7k |t U HATTER
Hfea ¥ a9 g oft giifyea st of feh OMR ST-Useh shelet S99 & Haitue &1 ferelt oft forgfa ot Rearfar
B U Yv-GReeRT Iget & dehtet FRTereh Rt gierd i |

* TTE: 9:00 TS W U THT-heT W YyT-Yfeaehl T @it |

* OMR STR-U3eh o SUITh I H W&l I aht Aot/ ahiel Ster-wrge U § fafed o | gd weft wo=t &t
Y deh UG o, ThITUT WHd: TTeTd ST 3i Weh & U9 o foiq weh & sifies fashcd & oM & W
0.25 ThNTHGh 31eh ohT UTALTT & 3TX fgeiaa: fontdt off Uentt shi TToTal 3T9rem Yo o feTg 3tfais OMR
IAC-UAh el QAT ST |

* T-HM% OMR ST-UFSH o SFTEER o WA |, Tdemmel st ifamea: STueT et e, Yy=-Yfieht
Ui, WY-TRaehT g OMR ST-Ueh § U 7T T ® STHifehd ST ENTT AT Ueh JUTHTET 31T
HEATHS ®Y OMR SUI-USeh o M 3T WS &l U # feasr g1 =99 OMR SW-USeh &Rl
IR el TehaT ST |

o gitenfelat st fiteres g <t 2 Suftufa /e vie W S 9) ZETeR &hid i, Teel IR e gdtenet

Te-hel H ST Hie W o3 ST e, T gET aR FRIeTeh 1 OMR STR-T5 Fio+ & ¥9F | 3R fergt
el 7 OMR ITR-T5h |id a<h SeR T8l o, T 39 STIfed /1 S |

o JH-giEgent § e v w gdaneff s1a @ FoR = w9 A fag |

o wignefl wE giivea & o ff 37k g foreht it wv-ufaent e aur S ue-gfiaent i OMR
IAC-Uh W Hel &1 ST WEY, U9T-YRAHT RIS hi W T, TfE TLremelt i U9-URaeht shis
‘A TS, 9 OMR 3TR-U=eh QU 1T Siferd 1 ‘A’ ToT@T 8T 9T OMR STR-Ueh | ‘A’ Shl STEITehd el
M

o TRieTeft T TE 1 I (rough) 1 T-JRaehT H U 7T T W X Hehil | Th 1A OMR SW-ToAeh A1 373
et TE & TS W A&l B Gohil | AT hig Th I AT NEE T OMR STR-I5e W T 7 =1 faistan
1 GANT foham 72, A OMR STR-U5eh 1 oIk &l R ST |

o YUYl oh HTEAH/HERI0T | fordl ot fadwrta ar yw =ht fearfa o iUsl S&huT & Wit 3|

o TRIe % SR fRE off wieneft i wien % Bied i oAl & T

o Ifg g Tdemefl Terd TR ST Y U A1 © 1A Ffqefea il T S/ Hieed W, Sheghored a1

el TE i oEfae Al stedn STafase g oifs, forent wiel gial,/ & § ST7Af T 8, A 39 7
AT ST |
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1.  Which word is the antonym of “Arrival” ?
(A) Conquer (B) Enemy (C) Departure (D) Welcome

2. What does “hang up the boots” mean ?
(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war

3.  Identify the synonym of “Accurate”.
(A) Total (B) Pedigree (C) Sincere (D) Correct

4.  Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C) Doctor (D) Medicine

5.  Which is the correct spelling for an annual day-date list ?
(A) Calandar (B) Calendar (€) Callendar (D) Calender

6.  Which word in the following list is a Verb ?
(A) Run (B) Black (C) Faster (D) Human

7. Fill in the blank :

Yasmin on paying the bill for her whole group.
(A) requested (B) promised (C) suggested (D) insisted
8.  Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(A) B & © (D)

9.  Identify the appropriate collective noun for bees.
(A) herd (B) swarm (C) group (D) bunch

10. Identify the preposition in :
The man is sleeping on a cot.
(A) on (B) man Q) is (D) the
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11. Which instrument is used for measuring atmospheric pressure ?

(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer
11. PSR B9 Gice] (@RE TG 29 90 27 2
(A) G TOR (B) WIfSRGR (C) @foR (D) ARPRGE

11. AN BI9 SARACR G (i g I8 I 2
(A) =REReE (B) wI=GRGHE (C) AfER (D)  AGARGE

11. 99 SHYST TRAVSAR] TRATERE! T ?

(A) TEEfHeR (B) Aafefier (C) TRR (D) oA 'THeR
11. SHeAE Tod 1 A9 & oIy forg Sushior o1 ST fohan Smar § 2

(A) TESHIKR (B) 3TeRIHIX (C) SRR (D) W
12. Al Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (€) Karbi (D) Dimasa
12, Ife SIS AR (PN =M T 2

(A)  AfS (B) fafeg ) = (D) fEur
12, e SICH ook (i STemices o 2

(A) A (B) fufbg Q) = (D) fosmn
12. eTfe o1 femien o9 =it wre ?

(A) @mfa (B) fufd (C) ifd (D) femmm
12. felt T formmin fore Tqe™ o1 @R § 2

(A) @&t (B) fuf¥fm (C) el (D) femmm
13. Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (€) Kerala (D) Himachal Pradesh
13. S (PN AT G 95 (<611 2

(A) TG (B) “If*om (C) = (D) f2iibet o
13. ST (I A TR 2

(A) @G (B) “If*om (C) = (D) fsIbeT o
13.  HYHAI & YIS HEHR ?

(A) TN (B) EHTS ST (C) e (D) Teurea e
13. TR fohd T 1 T TU® 2

(A) TN (B) uf=d Sa (C) @ (D) Teurea g
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14. Which of the following rulers had ascended the throne at Delhi ?

(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana (D) Rani Laxmi Bai
14. RS @RoRIFT P el Freeme s S ¢

(A) W &R (B) [T Sitzew A% (C) (@fSRl peveMl (D) [T eI Al
14. ORI 7 WER PRI S iR 2

(A) B [ (B) AMieEmiAx (C) S Ewei (D) AT SR Al
14. TREM 99 GrEafien feee TefaerEaTe o 'SidH ?

(A) =< fafs (B) U0 aMfgeename  (C)  Xform gear (D) for wieHt =g
14. frefafad 4 @ i @ e foeeft i TE W ser o912

(A) i St (B) Tt sfgem s (C) XS gearn (D) T At =8
15. Which of the following is not a criterion for citizenship of India ?

(A) Acquisition of Territory (B) Buying property

(C) Naturalization (D) Descent
15. IRl s @il oFes Aiiees Mok 2w 2

(A) gf ez (B) ife @

(C) eRplosael (D) I
15.  SIH (A SRR 5fRCe Aeme T 2

(A) T wfda (B) ife @7

Q) FoRS= (D) I
15. R AR | TRt s TH=ity 7T 2

(A) BIM AR (B) I WHWA =™

(C) BT HFT (D) ThIeI
15. frafafed § & &9 9 97a 1 AREwRA B AHES TE 8 2

(A) & 1 SRR (B) Hufd Tlie

(C) UThfaeRahuT (D) oS
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16. Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
16. VRIS (S (= “QOERIR FHG” A Sl I 2

(A) RTERCTS (B)  CRwIferI (C) > (D) G
16. IO (A (IS “TUIRIAT S5 o1 ST 2

(A) EEEE (B) (ReTfer (C) e (D)  CoNgae
16. 99 TEL@! ‘' gRUM FHepdie’’ T fhfer ?

(A) HoTeAE (B) SieIfsramH C) & (D) WA
16. o9 <9 1 ‘g3 1 FihiUe’ gl ST T 7

(A) Fegreds (B) difesm (©) ¥ (D) g
17. “Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (€©) Khamti (D) Tiwa
17.  “coliel &1 (P T2miEe Toifd Sel 2

(A) SRS (B) i (C) 4=fs (D) fes
17, “calfel e’ (i T2MIGR S92

(A) SRS (B) ffbe (C) (D) feut
17. ‘T e =@ 96 SR GaTee’ o TS ?

(A) " (B) fufd (C) @mfd (D) feen
17. T TSt fohd R 1 A TS R ?

(A) EH (B) T (C) Wit (D) fam
18. Who was the first Vice Chancellor of Gauhati University ?

(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi

(C) Kamalakanta Bhattacharyya (D) Krishnakanta Handique
18. @ARiG] Refmiera e2=e I GBI (i wifee 2

(A) I 5" I (B)  (alloTieiel Fqwea

(C) TEAIPIT B (D) T AHCS
18. MR ReeRmeTem 22w Tom & farem 2

(A) 79 b T (B)  callsTieiel <meat

(C) ITARRE STHR (D) I AN
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18. @Rl HEaiana fifafem ereTe fifean drem ?
(A) T =% /A (B) T R
(C) hHARI ﬂglﬂl’éﬁ (D) HOThI gk
18. AR favafaemer™ & ya Ferfd e 9 ?
(A) e =g SRgrs (B) T dNGIAs
(C) HHATHId = (D) FOHA Sfeh
19. Who was the first President of the United States of America ?
(A) George Washington (B) Abraham Lincoln
(C) Thomas Jetferson (D) Benjamin Franklin
19. SRS ST 4N AT (i wIifeet 2
(A) & A5 (B) IR fereaw
(C) AR (ST (D) @G @™
19. A ISAIETT 2N AMGolfS & foge 2
(A) T ST (B) =i ferze
(C) AP (SR (D) @GFW FElW
19. TR e fifafed sRrATReEn 9rHm 2
(A) T arfdfed (B) 3R feferd
(C) ¥ SHREA (D) SI=TITHA Shehfer
19. HIF TH AR & goH Tgufd wF 9 ?
(A) SISt af¥iTes (B) 31omeH fofehd
(C) o198 ST (D) SfHa Shenfem
20. Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?
(A) Shivalik range (B) Borail range
(C) Satpura range (D) Aravalli range
20. (GO ~eieTl e, RfIATl, qrergie oIl wE&iGe ST #1907 CoICR 2
(A) Frifes sfowE (B) 9iZe sulal
(C) AT R (D) SRR e
20. (I SO fafey, 2w, qregE g3 wTEIea wey e o 2
(A) TR sRewd (B) 3T Afordl
(C) Aol sRorad (D) ERE! Afor=d
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20. TRME B &dl g |k foeeft, S, Tse™ TR [SRias! aRais! ?

(A) et greimT @it (B) =NIgd eS|

(C) EEqU BSH | (D)  STRIVIEH BTl 1R
20. HHA-H g SEen feeeh, TREmm, Tere™ SR TR | B o € 2

(A) TRrenfersn weiqHTen (B) kel TeIaHTCH

(C) HaYel yaaHTet (D) SR JeldHTe
21. What is the main component of a glacier ?

(A) Lava (B) Salt water (C) Ice (D) Rain forest
21. [ AL o e

(A) el (B) FT T& Q) == (D) J=el
21. fomICE 24M Tomm S 2

(A) el (B) R T& Q) == (D) IR
21. SHQHI TR e | ?

(A) @ (B) ®RE< (C) T® (D) ol 3T
21. o Mg TF FNT ?

(A) En (B) WU (C) =% (D) @i &
22. The Upper House of the Parliament of India is called :

(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
22. RS TGO Aol (I R ¢

(A)  (ERTS! (B) IETel (C) Raw el (D) Ra »ifkaw
22.  OIRCSH AN CHIHH(E 6Tl & ¢

(A) @RSl (B) NSl (C) R 7ol (D) RW ifFaw
22, YRAM HHSH TS TG H AR S ?

(A) d'w' gl (B) TSI G (C) faum &« (D) forum aftwg
22, HUE % HIU T I el SR

(A) Ik gl (B) U™ 9 (C) faum g (D) faum 9ftvg
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23.  Which of the following words is NOT in the Preamble of the Constitution of India ?
(A) Fraternity (B) Dignity (C) Modesty (D) Liberty

o o

23. fsfERe @M o Sives WRYT 2B TR 2

(A) SIoEK (B) wmi €) f=m (D) =Tl
23. FIOF @ =6 ©Hred AR 2B (+2 2
(A) Frey (B) mi € Fm (D) el

23. TREME d¢ e YR Siefse TRrEmEe & 2
(A) s (B) HH-GTHN (C) TIHSIRfY (D) it

23. TrefafEd § 9 SHH-91 3¢ YRT & Hf9e™ St T&e § T2 ¢ 2
(A) AN (B) i (C) oo (D) E&cIal

24. Which of the following has the NITI Aayog replaced ?
(A) Competition Commission of India

B) Staff Selection Commission

Union Public Service Commission

Planning Commission

24. WRGER® @GR I3 Fife S <o) €1 (27 2
A) wiges efecifrel Sl

=

24. TI6F (PN TS S 2feTioN FEE 2
(A) SRCen Aferifars! Sisl

(B) G115 wricaet
(
(

C) GUR IR el

D) A&l Sclel

24, RS B ST ST NITI TR ST 2
(A) KT HiATH A® gh<a

(B) I faeieheA a1

(C) i uifecter wife siHeH

(D) faifa st
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24, ifq s 3 frefafaa 8 9 foege wom fam 32

(A) R gfaeast ST

(B) HHERI =& AN

(C) HH ik Farl AN

(D)  ATSHT STER
25. Identify the southernmost river amongst the following :

(A) Indus River (B) Godavari River

(C) Brahmaputra River (D) Cauvery River
25. TIRMERS T2 27 SAGROE TFEFC SRIZS T idd Hale < |

(A) Trpaal (B)  (WRST !

(C) =@l (D) SIS
25. R Salerm [ @R Ao aEe wees 9 e

(A) Trg T (B) (oS! =Tt

(C) =g i (D) JES! Tl
25. e SIARITAER SR <A fam -

(A) ey em (B) TSI &1

(C) SIgs < (D) SR S
25. Trefafed § | word gfaroft 76t st gg=m |

(A) foy = (B) Tierardt 7t

(©) F&g T (D) FAd &
26. Which community of Assam has “Choklong” system of weddings ?

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
26. SPTE (I TRWTS TR’ 2ALAF ol sfoe =7 ¢

(A) <l (B) foury © Frix (D) SMC™
26. SPICE (PN MM K10 “(BIpei” Aafe AR 2

(A) =l (B) fewmn (C) ffor (D) SR
26. STHMM o6l A =eha ' @St i ar ?

(A) IT (B) fewran (C) fufd (D) 2mEH
26. 1A % fohd TueE o <’ @t foemg gomed € 2

(A) e (B) feamm (C) faf¥m (D) 3™
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27.  Which of the following sea passages connects Asia with Europe ?

(A) Suez Canal (B) English Channel

(C) Panama Canal (D) Strait of Malacca
27. WRERS @R A1 G @R (70 @19 FF 2

(A) DR A (B) TS e

(C) == A& (D) Sl <effeTt
27.  TIBA (I TG GRS TSR HIE FECR ?

(A) PICTE < (B) M it

(C) AR e (D) eIl efrett
27.  TRMEM F6 Tl ATHT T TR 33U Geia 2

(A) YU 96 (B) Eferer et

(C) U SR (D) HICIHRIM BT-gTel
27. fTreafafea § @ wF o g At e o 909 9 Siear €2

(A) W TR (B) Effewr T

(©) ™ - (D) HcisRhl SITSHEHEY
28. How many countries does India share land borders with ?

(A) Six (B) Seven (©) Eight (D) Nine
28. ST (FRY (T T AN "o B 2

(A) = (B) T (© =i (D) 7
28. O (M(*IF A% SIRCSF FeT IS ACACE ?

(A) = (B) M (©) i (D) =
28. YRAl AHAAH ‘E:lC{{WI[ elgld T T ?

(A) HHET (B) HHTH (C) =M A (D) HET
28. R fora <R < WY Terel1d HIHT HiE il © ?

(A) BT (B) ¥ (C) 3Te (D)
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29. Which of the following Muslim commanders did Mula Gabharu fight with ?

(A) Mir Quasim (B) Turbak (C) Itutmish Abeidullah
29. NGRS (@e J=mn ERivifes [Aes e dfew@ 3o e 2

(A) fEzif (B) & (©) TTofig (D) TrwEE
29. TIHA (I PRI EHIFSR 0 I e I7 FERE ?

(A) TH e (B) W (C) ZEgefim (D) TEER
29. HoT MH'E 91 TRAMN TR WY GHHM HHEATRES e8] S THA ?

(A) TR wifem (B) T (C) A (D) 3eIgeeE
29. el MY A f=fafed § 9 fea gEee St 9 SR &l ?

(A) HR =wIEm (B) o+ (C) soqaras (D) 3sigeet
30. McMahon line separates which two countries ?

(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh

(€) India and China (D) Vietnam and Thailand
30.  CRRSIE AN, (I 7 (I 7)1 (S 2

(A)  SIFIIETRN i SAfE (B) TS S QIO

(C) ©F® W= 51 (D) fORGAN W= 2ETe
30. YRR ST (@ 90 (T SIeTWl FCEC0R 2

(A) SIS @R 2T (B) SIS @3 JIEAICH=]

(C) SRS @R b (D) TSN a8 AZeme
30. HehHe AR 96 TRThRE! Sl ?

(A)  SAEMEN ST qfREd (B) TR SR SicAlay

(C) ¥Rd AN == (D) FRaT™ &R Ageie
30. HeRHTEA W@l foh Q1 <l <Rl e LAl € 7

(A) TN 3R qIfeee (B) R IR FiTeiew

(C) ¥R IR <= (D) fooram iR omgeie
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31. Which kingdom of India had influence extended to Southeast Asian region ?
(A) Chauhan (B) Rajput (€) Gupta (D) Chola

31. ORI (P AFETT deR ufHFe-77 afezt Sesicel [ige e 2
(A) TR (B) r&f® ©) e (D)

31,  WER-I-¥ T SIR0A SIRCSA (TN IS 2O TS Zafes 2
(A)  1RA (B) der® Q) w3 (D) o=

31.  YRAM o9 TISIEl SHATE -GS UE STAEtad MeM SRae! gH™ T8l 8 ?
(A) IReH (B) TSI (©) T (D) =

31. YRA & fhE THF &1 99 Sf0-qd TREE &5 q o1 ?
(A) IRH (B) TSI (© T (D) =

32. Kurseong is a hill station in the state of :
(A) Sikkim (B) Arunachal Pradesh
(C) West Bengal (D) Nagaland

32. IO L IR GF ARy o7

(A) Pfew (B) SReEIGET 2wl
(C) “IFosme (D) #aCeTe
32. PR ARG ZA0 &H Acey 2
(A) Bifew (B) SRFeBE AT
(C) “IFosRe ERIRIGHI
32. pfAleT IS B W& |
(A) fafern (B) 3TEUTEE TR
(C) EHE T (D) ANTer<
32. AT TH T F T fed WY T
(A) fafsrm (B) TUTEA YW
(C) dfem ama (D) IS
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33. What is the introduction to Constitution of India called ?

(A) The Preamble (B) The Preface

(C) The Introduction (D) The First Page
33. SROR MRRT wiedl =i & Jfet (@i = 2

(A) AT (B) Ml

(C) #fww (D) W 71
33. SIRCSH FRAER SHRTICE F @0 27 2

(A) BRI (B) YH

(© (D) =2 o
33. WRd( Gfefoe TE®RARE! Al g ?

(A) TGN BEH (B) BRI

(C) TIRRAE (D) w9y faarg
33. RA % WGHM %1 JfFehT FI T FeAd ¢ ?

(A) HETE (B) uf=™

Q) fF (D) Teell T3
34. Which of the following is the Capital City of Chhattisgarh ?

(A) Raipur (B) Ranchi (C) Bhagalpur (D) Dehradun
34. RIS Moyes (@Fiee efedaes el 521 2

(A) T (B) =Ml (©) @ (D) CeIgA
34, +IHF (D SGHI9TTA AN *2ZF 2

(A) SRR (B) =i (©) ShETE (D) Ol
34, TEATE BH ST SRS TSI ?

(A) TR (B) WA (C)  STeTqX (D) =g
34. Tr=fafed § @ SF-91 STETE 1 TS € 2

(A) TR (B) (€) ST (D) <&
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35. Which kingdom did Sati Sadhani belong to ?

(A) Koch Kingdom (B) Ahom Kingdom

(C) Dimasa Kingdom (D) Sutiya Kingdom
35. IO AL (L ISR (0O TS SNifeeT 2

(A) (b SrEy (B) IR ey

© fourg ey (D) LRI Sy
35. TS| AKA] (FIF A fRCe 2

(A) (6 AT (B) NC ey

(C) TGl wrey (D) pfew ey
35. @fdq g = 99 qFSEE 2

(A)  wF IS (B) 3TE'H TSN

(C) fTear == (D) gfan =S
35. &t el ford Tsa | Heifud off ?

(A) H= A (B) 3TEH TH

(C) fear T (D) gfaan T
36. Alexander (the Great) was from which ancient kingdom ?

(A) Persia (B) Byzantine (C) Macedonia (D) Ottoman
36. SNERRESR (TN 2b Jems S 2

(A) =l (o)  (B) Reifew ) e (D) ST
36. SEEISE (V) @ L6 e oo 2

(A) ARy (B) 3JlFTHIE () P (D)  SICGIH
36. TSGR (T U2) 3 TNST M a9 SIeUTHA ?

(A) IR BRI (B) fosmfes (C) W=R'Fr (D) *'THE
36. THehat (WeM) fohd wr=i T 4§ o1 ?

(A) RH (B) dfefea (C) TEITEn (D) &WeMA
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37. Which dynasty ruled the longest in ancient Assam region ?
(A) The Ahoms (B) The Barmans (C) The Koch (D) The Sutiyas

37. G SO EIS (i I%H(2 AT et #(97 Fifee 2
(A) SR (B) (C) &b (D) o=

37. (I AT A5 ST ST TIoN T # [ ST ?

Z

(A) S (B) <= ©) b (D) Efe

37. &d YRR AEM AHEd ®I¢IF'I{%$ SICIESERSIEE GIMIHQ[HI"I?

(A) STE'HER (B) FHAGR (C) HIER (D) GfaamhR

37. YA 799 &3 § forg qoey 7 9o sifven wwg a3 fwen ?
(A) eRm (B) A (C) = (D) gfcan

38. Which of the following districts of Assam is in the Barak Valley ?
(A) Hailakandi (B) South Salmara-Mankachar
(C) Chirang (D) Morigaon

38. RFRS (@ fGe [T Trrorpre SRige ?

(A) AR (B)  wi=Rel *{eTial - MRS
(C) Par (D) faife

38. f(Ra (P (@@ SN IAF S2AIIT SRFS 2
(A) RZeTiw (B) Wi %N - NFIRT
(© four (D) it

38. 3TEMM F9 fSrern s WXL ?
(A) BRI (B) W HICHRI-AHSR
(C) T (D) wfamE

38. o\ 1 fAfafad § ¥ wH-a1 foe st =l § 2
(A) TaATRIEt (B)  TfafuT TR A=
(©) fawm (D) T
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39. Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (C) China (D) Nepal
39. TISfR® @R (™T PICe o SI%REE TN SN ™l oK ?

(A)  2AFeTY (B) b (C) b (D) (oMt
39. fACR TraARS (I (0 A0 ST WSS AT S wial 2

ISERIEGIN (B) goN (C) B (D) oM
39. oo TIRTSH SATHM SRYSRRT e Tam ?

(A) oS (B) Y Q) =M (D) T
39. o1y fr=fafead § 9 ford To % W AR Hn Tre 3 § 2

(A) oEte (B) “fem (©) = (D) 9T
40. What was the former name of Karbi Anglong district ?

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
40. I =cER e o179 e & et 2

(A) fifes sficey e (B) =iz oIy f&e

(C) IRF Ay feen (D) ifées ait siifey feent
40. I iR (TR TS T F w2

(A) fifes #ier (ol (B) PR SISy (e

Q) T 2Ny (& (D)  #if*6 il #fi ey (@
40. Ifd 3T fSrent fae g1 AHE 2

(A) THfRT feew e (B) qure feed e

(C) =R feed fSem (D) ErTs AT feed fstet
40. e SN S 1 qe 9 S o1 ?

(A) TafR e e (B) TR U ferer

(C) SR e fret (D) Y= Ar e e
41. The sum of any two integers is :

(A) always a non-zero positive integer.

(B) always a non-zero negative integer.

(C) always either a non-zero positive or a non-zero negative integer.

(D) always either a non-zero positive, a non-zero negative integer or 0.
41. I 0! o= AT C9Iee ¢

(A) SR O] SR GeIRRR SR LT 29 |

(B) Rl GGl S AeITEP S FLL 2 |

(C) WA G S LIS LT OF YNIF TG AR 2T |

(D) WA G@F SH[ LG, G S AT S RN A 0 RS |
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41.

41.

41.

@ I gfo 2R s ¢

(A) % GFH ST GG 2Jel72 |
(B) Wl GG SI-*[eTy HeNsF el |
(C) I =GB S ISR Al S-H[) AT 5727 |

(D) %I 27 9B S LIS, G S-S oJel727t A *+7 |

ST HA W1 ST STSTermeT

(A) SecTEE! ARG’ S TSI T S |

(B) SiecEEl ARG’ A TG o1 T SIS |

(C) SiccTEsl ARG’ 7E HTE TSTea Alforg’ 7 @ o T’ ST |

(D) Sieceal ARG’ 7S THASTa TSTed Tiferd’ 78 SFE o1 W' SHfSH TR TSTeel g’ |

)
)

(A) THIN Tk TR-I HTHS UMk Bl S|

(B) T U TR-I[ ThRIcHS qulieh Bl & |

(C) THIM A1 M T TR-I[ IS AT Teh TR-I[ FhRIcHS UTeh el ¢ |
(

)
D) THI A A Tk IR-Y ATHS, Toh TR TR UTh, a1 0 Bl < |

42.

42.

42.

42.

42.

The remainder when 2° is divided by 5 is :
(A) 0 (B) 6 © 2 (D) 4

2635 (F 27 FECE 2 ST TF 3
(A) 0 (B) 6 < 2 (D) 4

26 (F 5 7] Sl FACE SRR A ¢

(A) 0 (B) 6 <© 2 (D) 4
26 Y 5 7} THTeAT AT TG S

(A) 0 (B) 6 <€ 2 (D) 4

o 26 &l 59 fawfea fwen € 1 9% Bran ©
(A) 0 (B) 6 < 2 (D) 4

43.

43.

(—=1)°+(—1)° equals :
(A) 1 (B) -1 <o o (D) -11

(= 1)+ (—1)° 9 7 (2= ¢
A) 1 (B) -1 € 0 (D) -11
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43. (—1)°+(—1)° g3 AN 3
(A) 1 (B -1 < o (D) -11
43. (—1)°+(-1)° 1 9 feg7 -
(A) 1 (B -1 < o (D) -11
43. (—1)5+(—1)5 % HUF ¥ :
(A) 1 (B -1 < o (D) -11
44. If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :
(A) 20° (B) 5° © 10° (D) 15°
44. I =ET GOR WG B! ©IGeT 180° (I SOTH F(F, (9T G(F ARG GBI o1 ©IteT S 1 (el
[Ee%
(A) 20° (B) 5° © 10° (D) 15°
44. AW G T WG F1 180° (1ol W@ T, O G AT W& I FO 711 Sfo= T4l (o
2013
(A) 20° (B) 5° (S 10° (D) 15°
44, I fafte smeErfern ST 180° @A STERTRN, S STREN-2r o T el @ 'H1 STaHA ?
(A) 20° (B) 5° © 10° (D) 15°
44. If fHdt oS ot fae =1 2 180° T IV Terdl §, A1 ST SRM He i GS §RI SHMET 71 HI0T T
(A) 20° (B) 5° © 10° (D) 15°
45. The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :
1
(A) 0 B 3 © 1 (D) 2
45. (I 15! FRAE TIEICHE 9519 211 FRCHR 579 i Kot SR FeAisnst AN 1519 AT i =70 | AR
IO ISR (202 ¢
1
(A) 0 ®) 5 © 1 (D) 2
45. @3 I2E IR 39 (ACF ARSI Foed FIR 7 [0 I 2 3R FeNFA0 J2EF IR FAOH IR

AL I AT T | A 967 @9 25 ¢

(A) 0 ® 5 © 1 (D) 2
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45. W9 <Ufgq sHfsmife snifre 9Aa frafas swfsafe el sa s, faf= Se o e o fmen
afsTTfH wREEff THE | o A TSI SISTerTa

(A) 0 B) 3 © 1 (D) 2

45. ol <) gemsll § A S T w1 o o€ T & O W uE S R aitomy S gt % $fd %
SRR BT § | S Gesli H1 A

() 0 ® 5 © 1 (D) 2

2M 22_65>< 24 _ o2
(A) 5 (B) 3 < 8 (D) 7

46. Find m if

m 6 —4 P
46. T 2 X 25X2 — 512 (508 m T T FE e 9 |
=

(A) 5 (B) 3 © 8 (D) 7

m 6 —4
46. m st o9 Tl 2 ><25><2 _pl2
=

(A) 5 (B) 3 © 8 (D) 7

m 6 -4
46. m@ﬁ?_ﬂﬁ.z X 27 X 2 _ 12

2—5

(A) 5 (B) 3 C) 8 (D) 7

m 6 —4
46. afz 2 X25X2 — 712 AW m T FC
=

(A) 5 B) 3 © 8 (D) 7

47. The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :

(A) 20 (B) 8 (C) 10 (D) 6

47. 5! MR NG SR SIS JATC 24 OiF 4. AN G G5 I 12 T (SCT SO A2 T ¢
(A) 20 (B) 8 Q) 10 (D) 6

47. Wi IR TG, G AL, I 24 G 4. G5 AP 12 2 ) AL
(A) 20 (B) 8 © 10 (D) 6
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47. HFA STAMTHTRRM G791 TR <. 3791 A1 WY 24 TR 4 | i STARTHT HALGAT 12, T STATHRT -
(A) 20 (B) 8 € 10 (D) 6

47. < OIS H ALTH THIAE SR IHTH HHISAER HA: 24 3R 4 F 1 A TE W@ 12 %, @ T wen
T:
(A) 20 (B) 8 (C 10 (D) 6

48. 40% of 60 when added to 60% of 40 would result in :
(A) 40 (B) 48 (©) 60 (D) 64

48. 603 40% I CC® 40 I 60% (19 TR FoTlzret =7 ¢
(A) 40 (B) 48 (C) 60 (D) 64

48. 60 9T 40% G AN 40 G 60% (5] FACT T Z( ¢
(A) 40 (B) 48 (C) 60 (D) 64

48. 6017 40% @Y 40 7 60% I TSTerseT ST :

(A) 40 (B) 48 (C) 60 (D) 64
48. 60 H T 40% 40 H T 60% H e T aikong 9rat &Fm -
(A) 40 (B) 48 (C) 60 (D) 64

49. Addition of two Roman numbers XIV +1V equals :
(A) XXV (B) XVIII (©) XIX (D) XX

49. VoI IS A Q@oee XIV + 1V 022 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
49. 7o @ AL XIV +1IV @3 (9 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
49. T W SFSE XIV + [V B SrSTsiiset /1 JAH 2

(A) XXV (B) XVIII (C) XIX (D) XX
49. < 9T HEARd &1 A XIV+IV R

(A) XXV (B) XVIII (C) XIX (D) XX

50. (x2—3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1

50. (x2—3x—4)+(x+1)=? (x#—1)
(A) x—4 (B) x-3 (C) x-2 D) x-1
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50. (x2—3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1
50. (x2—3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1
50. (x2—3x—4)+(x+1)=? (x#—1)
(A) x—4 (B) x-3 Q) x-2 (D) x-1
51. The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per

51.

51.

51.

51.

annum compounded 6 monthly, is :

(A) T 105.20 (B) T 102.20 (C) T 10250 (D) ¥ 105.50

2l 6 23 Sr® baqG 7S 2517 FCE 2R 10% 5@ 7O TS T 1000 4= 1 I 9 &l (21 39
q Sifaslel (2% ¢

(A) % 105.20 (B) ¥ 102.20 (C) 10250 (D) % 105.50

1 IER N EA T 1000 97 TR ARE 10% bFgian DA @S 6 T b AeJ2re 0 Al
= ¢
(A) < 105.20 (B) 10220 (C) 10250 (D) < 105.50

% 1000 T |rmE SRR 10% 8R 1 SR aTREs™ g8 fogd, e areem geat 6 SR @ -
(A) % 105.20 (B) ¥ 102.20 (C) T 102.50 (D) % 105.50

TAYT T 1000 T 198 H 10% fd o4 o <Ishdfg SATSI W 6 HIfHeh Fshdfg AN Sed T 3f50d Fal AT
T
(A) R 105.20 (B) ¥ 102.20 (©) R 102.50 (D) ¥ 105.50

52.

52.

52.

52.

52.

Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
ona:

(A) Friday (B) Sunday (C©) Monday (D) Saturday

¥ (1 e (@ G5 I]9 FFCAIG A2 28 el J& 2| M 1 SISK WMo EINRR 27, (o0% 28 «fee™
WICol 29 2
(A) ST (B) IRAF Q) IR (D) ===

4R (I A W 28 e | T 1 iR oI 27 oiR 28 (@il 707 ¢
(A) TR (B) =Rl (C) CItEE (D) ===

TEAM A1 S SR e ST 28 e’ Rl | e 1 SHaRieEnfe SHeR el oTea, 28 Tferat |
SR ?

(A) TR (B) @R (C) ¥HIR (D) e
T R U 99 & |t afe 28 fedi & 8 § 1 Afe 1 SHek S WHeR v €, 1 28 3Te i IS ¢
(A) YBRAR (B) Yfaar (C) HHaR (D) ¥HaR
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53. If mis a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :
A 1 B) 0 © 5 D) 3
53. WM m 2I&foT GBI S 2 A 46 m 23 FRAI! 9 (F R©Iey 27, (S m I e FI 29 ¢
A 1 B) 0 © 5 D) 3
53. WM m si@fon G0 o= 27 G 46 m 23 WG 9 B Koy 27, ©I2Ce m S&Fh 7 2
A 1 (B) 0 © 5 D) 3
53. S m T WY AN SR 46 m 23 SHSHET 9 S TS, ST o STHANSHET S6r -
A 1 B) 0 © 5 D) 3
53. AfC m T YOUMCH 1 T 3 © 3R T& 46 m 23,9 T f999 8, 1 37h m TR ¥
A 1 (B) 0 © 5 D) 3
54. The fractional form of the recurring number 5.121212 .. .1is:
n 37 o 57 o 5 o 57
54. (sTeslfdld 1R 5.121212 . . . T SRR FAG! (2% 3
a3 o 57 o 5 o 57
54. @ AN 5121212 . . . O3 SR 9l 2
R4 5 57 o 37 - 4
(A 5o B) 59 ©) 5 D) 59
54. SEATETE AN 5121212 . . . (1 Sr@me@Err 783 -
R o 57 o 5 -4
(A 5o B) 59 ©) 5 D) 59
54. STEdl W@ 5121212 . . . 1 F=TcAs €9
n 37 o 57 o 5 o 57
55. The value of /1849 is:
(A) 33 (B) 43 (C) 53 (D) 63
55. /1849 I W (%3
(A) 33 (B) 43 (C) 53 (D) 63
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55. /1849 €< Wi« 2% ¢

(A) 33 (B) 43 (C) 53 (D) 63
55. /1849 T @M -

(A) 33 (B) 43 (C) 53 (D) 63
55. /1849 1 HM %:

(A) 33 (B) 43 (C) 53 (D) 63
56. The diagonal of a square is 10 cm. The area of the square is :

(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?
56. <ot 3919 9 (E9 10 (5.3, | 3G Faweet Tz ¢

(A) 100 5.2 (B) 50 (5.2 (C) 64 .[N2 (D) 48 (5.2
56. @35 9fCwaa 3 10 ELAL | I9fCwafta Fifer =1 ¢

(A) 100 @1f2 (B) 50 @if2 (C) 64 (L2 (D) 48 Gif2
56. HMY S @ giEsT 10 9.4, 1 o it smifern -

(A) 100 9.f7.2 (B) 50 &.fa.2 (C) 64 9.2 (D) 48 &.fa.2
56. U ot ol faervl 10 At &1 o 1 &9 ©

(A) 100 HHR2 (B) 50 T2 (C) 64 GHi2 (D) 48 G2
57. The sum of the odd numbers 1, 3, 5, .. ... upto 15 terms is :

(A) 225 (B) 125 (C) 169 (D) 196
57. SIEAIRAN, 3,5,.. ... T15 B #IM(s1 I (RN (R 2

(A) 225 (B) 125 (C) 169 (D) 196
57. SRAIMAM1,3,5,..... 15 6 5% 5[ (19 FC3T (@91 T3 2

(A) 225 (B) 125 (C) 169 (D) 196
57. oSN SAMSH 1, 3, 5, . . . 15 T faafq <siemmiEn -

(A) 225 (B) 125 (C) 169 (D) 196
57. 1,3,5,..... 37 foun Gemsi &1 15 9ei 7 &1 AT

(A) 225 (B) 125 (C) 169 (D) 196
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58.

58.

58.

58.

58.

The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :

(A) 10 years (B) 25 years (C) 18 years (D) 15 years

forg SR 5[99 TS IR (A9 60 TR | 15 TRK 9120 Foiga 7207 27 TR 10l T | 7j@F IO 57
¥

(A) 103 (B) 253 (C) 183 (D) 153

foIol @ 2J7aa IS CR ([T 60 I | 15 T2 #1F 1o 591 7{18 [WOR awel T0 | 7J7ad IS I
= ¢

(A) 103=F (B) 253 (C) 18R (D) 153

snferaErera faw AR fREse SEif SR 60 SER |1 15 SERM AT fowR swen frasent
T ST | STToRaTeTd fhareanTt= sErst e ?

(A) 10 9IER (B) 25 ¥R (C) 18 9ER (D) 15 9ER

T TR I i 9 ST 1AM 60 T T 1 15 9 a1G a1 &l 37 I i 317 © SAQA BFf | I i e
3T|'ﬁ%:

59.

59.

59.

59.

59.

(A) 10 =d (B) 254 (C) 18 = (D) 1594
Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24, 25
CRIC M1 R4 3 : 4 SRIITO® A7 O RO @9IFe (2R 49 | FR2 451 24 ¢

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25
s AN 3 : 4 SHAICS IR G SIHR (NI 267 49, FRAN 4o 267

(A) 16, 33 (B) 18,31 (C) 21, 28 (D) 24,25
T ST TSR 3« 4 AR fTERM ST 49 | STARSTH T STe -

(A) 16, 33 (B) 18,31 (C) 21, 28 (D) 24,25

YBT3 : 4% SIAH € SR SR AM 491 I T HEAW €
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24, 25

60.

60.

A garden has p numbers of trees. Every tree has ¢ number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :

(A) p+q+r+s (B) pq-+trs (€) pqr+s (D) pqrs

(P G2 RS p (El=Al o1 BMC=| ASCeiall =S q LS =12, ASCE! *NLAS 1 A THHIA W=
AfSTH! TS s FRAF e #lfal ST | AfoIRLTS 24Pl 7YY 21T AR (202 ¢

(A) ptqtr+s (B) pq+trs (€) pgr+s (D) pqars
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60. I JNE p AT Mg IR | 2O AN q A =141 AR, 2D =N ¢ AT GoFl TR G7Q
2f ST TR s FF ATl 02| AN WG 2O AL 26 ¢
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

60. HY fTaTRAE o p §% S| AR SHISTE HH q SIeTE <, 3 HAHIHs 319 | r 33 w3 sl
qH%EE! SR - TR T s foems €1 o faeameniame mad foaers < ?
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

60. e oS H TSl i WA p T | Teh U H SMESH i H&AT q B &, Tedieh I H ST bl F&AT r Bt
T IR g SuemEn # uftel s He s At ¥ | i H ufhdi v e wen ©
(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs

61. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling
61. YRR JuF % & 2

(A) e (B) m=lm (C) =i (D) fifere
61. TR &l F 2

(A) fifere (B) fwm (C) o=l (D) faiferg
61. 3= AfqaTty @RfEr wr?

(A) Rfma (B) feiw (C) T (D) forfed
61. TSI 1 T T 7 ?

(A) Rfim (B) MR (C) =ft=n (D) farfem

62. Which of the following movies was not released in 2023 ?
(A) Jawan (B) Animal (C) Pathaan (D) The Kashmir Files

62. TRRIRS &L 5eTibog 2023 bl (& (AR Fifee 2

(A) T (B) @fCwa (C) #ltow (D) W R FZeTg
62. I (I H06ED 2023 A Y& o 2

(A) @& (B) wmifsra (C) I (D) W I iz
62. TEEM 96 WEYAE! 2023 AREATEAE SRAR ST ?

(A) SEH (B) THHw (C) wum (D) T' HTHR HEed
62. fAfafed § ¥ wE-4 fhen 2023 # Refs 78 g8 off ?

(A) @M (B) Ut (C) WM (D) T HYHR FEed
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63. Ason 15t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?
(A) Lower Assam (B) Barak Valley
(C) Hills and Central Assam (D) West Assam

S N ey

63. 2022399 131 RIS ACATE FRGEIRS (WG S (2R ARF) Aee T28 2

(A) A SP (B) T T
(C) =IFey € Ny ST (D) =I5 =TS
63. WIF (NG 2022 €F 1 ST ACATE SPICR (2HTF) FRASET T 2
(A) = o (B) IR Gl
Q) =IRey € Ny ST (D)  =If¥5s SpTs
63. 2022 AEUEM 1 AR WIfAwE TR so@ STEmf (Fersa) SR T
(A) TTEHE HAEH (B) =T EIH
(C) rSil R TSR SATE™ (D) HIFTE TE™
63. 1 SeRl, 2022 I Fr=fafed & &H 91 3199 1 (TRIEfe) T9FT T8l © 2
(A) = e1Em (B) &I el
(C) veIfeal iR we 31|H (D) ufge stEm
64. The Ramcharitmanas was written by :
(A) Kabir (B) Veda Vyas
(©) Adi Shankaracharya (D) Tulsidas
64. JITEFONT I I TSR (20
(A) FR_ (B) @y
() nifr =iF=m (D) TEEImA
64. FIAGFONT (1 TieeH ¢
(A) == (B) WP
() =nfa =5 (D) gERTMR
64. THIRTHFARFE AR feAm=mH ?
(A) FER (B) 9=
(C) 3mfe W= (D) qefde™
64. THFRaHE TG foran T o
(A) HR (B) o =M
(C) g St (D) dqeEEE
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65. Which of the following Novels was written by Kanchan Borooah ?
(A) Mrityunjoy (B) Oximot Jaar Heral Xima
(C) Ontorip (D) Asol Manuh

65. TIRGIRG (P TN Fiea I3 ol FiaeeT ?

(A) oG (B) SRINS [ (2N A=
(C) eIl (D) IbsT SR

65. SIbA (I TATMD Fieee Ieat forcacay
(A) TOGH (B) SPITS I (2 I
(C) sl (D) et SR

65. TEME o9 Tl HEl i T%ardl feadie ?
(A) HITeEF (B) ifamd IR =0« fam
(C) 3Ty (D) 3Hd A8

65. TraAfafad § 9 -9 SU=AE e %31 gry fora man o ?
(A) HFsF (B) 3THITT VIR A Fral
(C) Aada (D) AEA AT

66. Sunlight helps in producing which Vitamin in a human body ?
(A) Vitamin C (B) Vitamin B (C) Vitamin D (D) Vitamin A

66. I (oI MR *FT (PR FEHIfm TeomTs 52w 7 2
(A) fBIfim C (B) TeOI= B (C) TSBIffm D (D) feOifsm A

66. IR S AFIWCE (P OHIfA o1 FHCe AR I 2
(A) TSI C (B) TeOIfSe B (C) TSBIfsM D (D) TSI A

66. TEMAM gmEE AHgsT 99 fiefiat WrfsE ?
(A) fqaf C (B) T9aif B (C) e = D (D) f9arfiT A

66. T 1 IR AME IRR H ford faeif & 3cured # Aeg a1 § 2
(A) feerfd C (B) feerfaa B (C) feafda D (D) feerfd A
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67. Which of the following statements is incorrect ?
(A) Thomas Alva Edison was deaf.

(B) Apple is related to discovery of gravity.

(C) The brightest planet as seen from earth is Venus.
(

)

) The chemical symbol for sodium is Sd.

o o

67. WEEe (TG U aug 2

A) IR SISl Gfh A e |

B) e I SREINT GICe ST 7% =Nz
) RS AR (T SIGIRe s e 9%hl S |

D) =fae PR foweh! tareSd |

67. S (T el oreg 2

A)  TIF SeTel G iR R |

B)  SICse MRl SRIEE A TS |
T oJfAFT (A L RGE Tog 22|
TSR TR 21 261 Sd |

67. TEMEE S o faefern or =T ?
(A)  UH ST TEEA T S |

(B) SIS HHHAT HITEme et fhermerT |9 € |

(C

(D

5k U "o EATE TSI JF(g3 Siad 78 |
afeami qamEfe feferfem sd |

)

)

67. Trfafed # & ®F-91 %o e 2
(A) ofag 3Tea Tfed ol 9 |

B) ¥ I HelY THchy 0l ! WIS 4§ § |

(
(C) geat ¥ T\ S Il Foid FHehien U I ¢ |
(

)
D) difedn &1 TEEfTH Fdiieh Sd ¥ |

68. In which field did Bhogeshwar Baruah excel ?

(A) Athletics (B) Swimming (C) Badminton (D) Football
68. (OI9P4T IFANT (FNCH! (Fge AAlw«fol are S 2

(A) @G (B) Aftelm (C) @G (D) oA
68. (OIPT TF! (PN CFGG AR 2

(A) SN (B) Aom (C) D (D) o=
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68. WIYER &l ol fohMTE STRET-REmH ?

(A) THAfTH (B) WM& (C) wefg=a (D) asd
68. MI¥eR 5%aT A fhd & H Ipte Uy foha ?

(A) Tifed (B) Rt (C) drefHed (D) Yedrd
69. Which of the following is NOT an IPL team ?

(A) Delhi Capitals (B) Gujarat Giants

(€) Sunrisers Hyderabad (D) Lucknow Super Giants
69. RS 7To[27 (P! SNe#9e wel T2 2

(A) Tl e (B) @TAD WY

Q) RWRITEE FvEAM (D) #CH! T SRR
69. TIOR (NG SR .. vt 7 2

(A) fafa enfGrem (B) @&AG SIRGH

(C) mRizER TrmRm (D) TCEF 2R GIRTA
69. TREM we WG o7 4t 1 el =T ?

(A) feeedt hftded (B) TSI ST

(C) HMURSIH AUl (D) <ET3 UR SEAH
69. frfafad § ¥ SH-4 o1 o a1 39 78 ¢ 2

(A) Tt shfueed (B) TSN SI¥ZH

(C) HTESH g&UER (D) TGS W SEHIH
70. Sharp pointed teeth inside human mouth are called :

(A) Molars (B) Canines (C) Incisors (D) Premolars
70. R YT fooe 4 (B, (Slel Mo (@ 23 8

(A) (T e (B) (=FW© (C) JITwlre (D) @A wfe
70. IS YA (SOCHA QI I WOCS I & ¢

(A) (o9 wfe (B) (=w« wf® (C) FEInre (D) SateRe 7
70. HAEEM GfaSTa 9H™ SR A 1 g ?

(A) BB (B) HIwIE™ (C) e Td™ (D) & gFi B1em
70. HI % Hg % SIS eIl Sfdl hl hel ST

(A) =i (B) &I (C) s (D) T Uik
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71. Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia
71. (LA O SRR R (1 Fol Teee 2

(A) B (B) G ©) fTefEters (D) Freiwfe
71. (W o TR AR o qce AARibe 2

(A) B (B) G ©) fTefeeme (D) Erwim
71. &9 TE@! ' IH SR BIeX AE ST 2

(A) =H (B) UM ©) TR (D) < g
71. TRa U &I RS A W F TH Y FE @S 2

(A) = (B) S (©) irete (D) ESmfmEn
72. Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?

(A) Chalukya Empire (B) Vijayanagara Empire

(C) Chola Empire (D) Hoysale Empire
72. TR NGRS +fRoe 2ed WiF (947 Oy 37 I (@ AIe AfeD w2

(A) B AHE (B) Rerzeelg A=y

(©) e ey (D) (ZHET ST
72. 2z S 2@ A Affoe vk o ©i 33 A @ aret dfew wEfaeE o

(A) BERY Ay (B) Remwam Alwiey

Q) I AFIey (D) (¥ Ay
72. TRER, S TIh1 BAAME RIS, TR faf her gaeht T, 99 TESEl MR ?

(A) T GHIIS (B) ToSTETR HHTSI

(C) e TS (D) BT FEESI
72. TR, TR g & M @ oft I S ©, IR ST WIS FoR1 T 7 TR AU i T 6t 2

(A) =TI A (B) fos=TR 9HeH

(C) = FEA (D) TS U
73. Near which town is the Da Parbatia gate located ?

(A) Tinsukia (B) Tezpur (C) Silchar (D) Barpeta
73. (LT 5T IS 7 2SR (O SRIFS 2

(A) ol (B) (o&7d (C) T (D) FCol!
73. W AKSHI A (I *IZEE P02 SAES 2

(A)  TomgRm (B) (&7 (C) e (D) IR
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73. 3 Ueidial S o1 ofel AR w@nferEre € ?

(A)  fagfeman (B) dSR (C) fHer=R (D) ST
73. 7 gafaan e form v o arg e § 2

(A)  fagferan (B) AR (C) fHer=R (D) U
74. In which Continent is the Amazonian Rain Forest found ?

(A) Europe (B) North America (C) Africa (D) South America
74, SNMIGWE L] (P TS SRFS 2

(A) TSEA (B) TewWwRA  (C) Wi (D) wfEFel ST
74. SIIGH IR (I T SRZS 2

(A) @& (B) T&WRA  (C) I (D) wfErel SCTfR
74. STHSH TG 3T 99 SRS ?

(A) 33 (B) ©- 3R (C) 3TfRaA (D) e - SRR
74. TS ot 991 94 9 mRgY § ¥?

(A) Fd (B) I R (C) SABIHI (D) <faror SRR
75. What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?

(A) Vasistha Ashram, near Guwahati

(B) Ajan Pir Dargah, near Sibsagar

(C) Malinithan temple, near Silapathar

(D) Garampani hot water spring, near Golaghat
75. A, FACTOl i FIF AN [0 THALRT FRITFAS (0! SRZ© ?

(A)  SARGIT AT I ST

(B) FREIIRE Ao SIS 19 79iig

(C) ToetviuR 7 Mferiee s

(D)  (SIETIGS AN SR T & TF
75. I, SAfeTel, I @2 foq T 20 THIEE SRES ¢

(A)  eaRba FF6ae afB S

(B) fRmTisiz 68! Sireie STia vl
(C) THetonaNEa Fasas! Mfsrge g
(

)
D) (SNEQICER ool swsiife Tae o
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75.

75.

e, Aferdn ST 1= ST AR SR e oot < 2
(A) <Y oT19M, TEER! W

B) 3STH YR SUTE, THeER |

Tt Af<y, faarRieR SrETferE

e, Aferar 3T wiar a9 STaarretl & 9mH W 7 feog § 2
A) afirs aTgm, TERE & I

B) 39T YR SUME, ™R & 9|
wifete wfcy, faameR & o=

TRHAHT TH 9 & e, e o a"

76.

76.

76.

76.

76.

Origami is the art of paper folding that originated in :
(A) China (B) Korea (C) Japan

JlolE ©ie 19 Fe1l RN Tesife R omre 2w ¢
(A) & (B) A (C) wiol=

el 281 g e oier iy 7= Tesife g ¢
(A) bW (B) cifz (C) @il

Cambodia

AT B YQHH o foers o STien 1w eS|

(A) = (B) whfem (C) STIM

TS HISH bl hell SR ot Scafa fore <o o g8 off
(A) =H (B) hIf&m (C) SIaH

77.

77.

77.

Which of the following is highest, among ranks of the Indian Army ?

(A) Brigadier (B) Lieutenant General
(©) Major General (D) Lieutenant Colonel

SRS (R AMIPTRd foose MRS (@bl T v 2
(A)  faeafeas (B) (STFCOED (STCICTa
Q) Te[ (SEEE (D) ETRHES Pl

o

TNod (WD OO IR AT S0y (0 2
A) ReifeE (B) TFGIT (SIS
Q) CToR (GiEa (D) (ETRCGIIG Fofa

(
(
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77. TR S&3 YRAT W@ g Sifg w2

(A) forifem (B) AHIE S

(C) TSR I (D) WHAIE hd
77. TrAfafeg § 9 A 9Rdg 99 % {3 § gate § 2

(A) forifeer (B) dferic SRa

(C) TSR SRd (D) dfEsc &Ad
78. The first modern Olympic Games was held in :

(A) Athens (B) Paris (C) London (D) Berlin
78. 2 SYfF S0l (25 TS SIS Cafes 2

(A) e (B) (iR (C) = (D) aifefq
78. @AW WY eI oiF Tl SePe =7 ¢

(A) @ (B) =ife™ (C) @ew (D) aIfetq
78. eTforama fifafas o1 'fafaes SRR @1 ST ?

(A) T (B) ufH (C) <veA (D) @ifelq
78. WU MY SAcifun Tt Fel e o 7 & 2

(A) Td™ (B) uR® (C) ded (D) wfed

79. Which of the following is responsible for converting milk to curd ?
(A) Actinomyces  (B) Lactobacillus (C) Fusobacteriota (D) Malassezia

S N ey

79. ANFRFE ™ (71 FeER© T (Faqe MBS (@FHRE Sl oz 31 2
(A) «fSNEde  (B) (FIFEbeR (C) FIREIAG! (D) T ienrt

79. IR (PG F4CF w300 FoATET S I 2
(A) SFENEP™  (B) WRGRIPE™  (C) FEIRNIFEGRES (D) Sylenie

79. TR B do ] MEEE! Ml el ?
(A) TRA'"EEE  (B) wRWEa™ (CQ) FHERIAE (D) HAcmEisE

79. T¥ I <@ B Sgen & fou frefafed § 9 #F foder 2
(A) TfRAmES" (B) wREIfHTH (C) HEERIRART (D) WS
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80. What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?
(A) Statue of Liberty (B) Shakti Vajra
(C) Statue of Unity (D) Shanti Stambh
80. WTAIGT BWIF AR I AN Blof T4 A SGR a1 fF 2
(4) @ o o (B) *fe<g
(C) (B ORI LMD (D) *if%%s
80. WTHICHA MM AR AR Pl e Jfeq am F 2
(A) 5np o foraife (B) &g
(C) iy =r=F TR (D) *Ife %"
80. TSRIAM TRER WX'aR AFI WA <@l S @ §a7 | ?
(A) Vg A% foqamet (B) ik 9IS
(©) W= T B (D) e Ty
80. TSR H TGR TRIGR 9iY o I Tfya yiqm 1 1 919 § 2
(A) B 3w faedt (B) wIf® ol
(C) =g 3k ATt (D) wifd &
81. August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s

81.

81.

81.

81.

independence ?
(A) Non Cooperation Movement (B)  Quit India Movement

(C) Khilafat Movement (D) The 1857 Sepoy Mutiney

“FRLE! T RS NG S92 TS Sed TR Z0F T (B! SR (100 T2 2
(A) PRI ST (B) SIF® Oyl SCWIEH

(C) TRsree SN (D) 1857 51 fooii2l fRmiz

95 IS TR0 2 W NG SICeT FETOR (Fiel ST eI e F=1Fe T 2
(A) PTG SCwiEs (B) SIFTS QT AW

(C) TReree SN (D) 1857 @7 Ti#iid} Reaig

“ AT TETee I ST T STATS T s SHeRArESt e § 2

(A)  TESISRITY HHEHRA™ (B) ¥IRA ANTRATI HIHSHRATA

(C) Taemwa FHEERA™ (D) 1857 " fHurg fsmmam

“HRGT A HE AR R WY ST hifd YRA i Al o fa) fohE STiSer 9§ Gaifyd off ?

(A) STERIN R (B) ¥Rd BIel 3HAigreH

(C) Taamwa sider (D) 1857 =1 fourdt fose
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82.

82.

82.

82.

82.

In Assamese literature, who is known as “Ekhud Kokaideu” ?

(A) Nabakanta Baruah (B) Medini Mohan Choudhury
(€©) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya
SPTIIR ANfere “gyn FHEWS” NI FIF Gl A 2

(A) RIE =4l (B) Al G (51!

©) T o™ FGf (D) <TAEARPIE ©EIE

SRR AR (& “agn FHREMe” I ARibe 2

(A) AT (B) Il e 1T

(C) TIbX TG (D) TG SHHR

STafT YFeeeTs WAl UEg & 'Heed ! B fafee 2

(A) oI a%al (B) HfeH wew =ed

(C) FH< 7= T e (D) AR WgH=E

ST wifecd § ' TEE w3’ & AW § foRd ST ST € 2

(A) Tehid TET (B) Hferl diew =herdt

(C) PR T THI (D) FHARIA =

83.

83.

83.

As on 18t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi’s Council
of Ministers ?

(A) Dr. Subrahmanyam Jaishankar

(B) Smt. Nirmala Sitharaman

(C) Smt. Smriti Zubin Irani

(D) Shri Kiren Rijiju

2024 51 1 &l SIRIST ACATTF VE@H (G NG 7Ifane @i ARewT 7e T 89T 1% I ?
(A) T T GRES

(B) @rrS! fsfa ol

© 8 g g =f

(D) & foesw f[ferg

2024 & 1 &1 SRR AICATH TE" (N NG AR @i R v wikiey @ o 2
(A) T FETE T

(B) &S| 5@l Srorgse
(C
(

)
)

=N [y (any [y
Arrst gfs gie 2

&) e faferg

)
D)
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83. 2024 AR 1 AN Wifafad <4< Hict Af-yr swefrm arsh grgeni et foemn 9rfH e ?
(A) T YIUIH STIIIhT
(B)  iwcit foefen Hrarmm
(©) e = fet s
(D) t =i RSy
83. 1SHeRl, 2024 i g HIEH it AU # foewr W™ 1 Y9R fohdeh qr €2
(A) Sl Yo=Ioad STl
(B) et foefen Hrarmm
(C)  Hrwelt T gfor s
(D) i foia RSy
84. Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?
(A) Rabindranath Tagore (B) Bishnuram Medhi
(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan
84. TReeRIv AT FeIBF SN (FIC 2l SR 2
(A) NG IFE (B) e wf
(C) orabe ] (D) M qeigRen
84. =g o7 OIS e TollfY (& Tcafee 2
(A) FTIL I (B) =g (ufy
(C) IS H I (D) K= AT
84. ‘‘were’’ oy @l fooy] wETe UHHT W SrEE ?
(A)  Torg 1 AR (B) o #Afy
(C) HuN == 99 (D) HaUed! THHIE
84. TSI JHIC T 1 FHN[E i UMY fohem < 2
(A) A" TR (B) forouRm Aeh
(C) gum =g 9 (D) Heldeelt THFH
85. In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :
(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years
85. 5l ST forrg, S W< GFaNE 2@ TSN TIPTIRF 2 (91206 1 2 | y T2 AT (€T TP

I (AP T 2
(A) Bx+y3I=F (B) 3(x+y)I=F (C) x+yI== (D) x+3y3I=s
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85. @I ~IRANCH GFCH 5@, ol G GG 7{(aF IO IR (W91 1 T | y TR 517 O TR N9/
7@ e
(A) 3x+yI=H (B) 3(x+ty) A Q) x+yI=A (D) x+3y 3=k

85. eTfrETae WY 7@ o, fomm ot fRament sEien '8 x IER | y SR 36 foEr a9
HEICHIERISICICE
(A) 3x+y dER (B) 3 (x+y)dER (C) x+ydER (D) x+3y JER

85. U URER H fiar, 7rn 3R shalld 9 i IaAM 3T T AT x I8 § |y T4 o d1%, STk 2T 1 AN B0
(A) Bx+y T (B) 3 (x+y)ad (C) x+y=d (D) x+3y Ty

86. Saptakanda Ramayan was written by :
(A) Horibor Bipro (B) Madhava Kandali
(C) Ananta Kandali (D) Hemo Saraswati

86. EFG INTY (Fi ferfafee 2

(A) =R (B) ¥ FWfay

(C) G I (D) (| >_FS!
86. FEFG I Aol FCARCEW

(A) =R (B) iz el

(C) T I (D) EIATTS!
86. TWHTES THFTE! IR faAmHN ?

(A) BReR oy’ (B) HI&E HUSal

(C) o= Husel (D) B9 |EEt
86. TwWHTE THE fhgh gRI foredt TE oft ?

(A) B foy (B) WI¥E whafdl

(C) oa hefd (D) &H HLEIt
87. Which of the following airlines does not exist anymore ?

(A) Spicejet (B) Indigo (C) East West (D) Vistara
87. Txfefiis (@M R AFR wifeg oW 7To7re 713 2

(A) “IZHCEE (B) Zfesr C) 32T @2 (D) femml
87. HIH (T R AER S (R Seg (718 ?

(A) “iZ (S% (B) Zfetan (C) 5 Sw@D (D) fo=ml
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87. TR v foRw Wi grsen sforares et 2
(A) Y S (B) 3=’ (C) 3 a9 (D) fy=m
87. Trefafed § § wF-H ToRered o1 i § & § 2
(A) TEESE (B) sfemm (C) TLaE (D) fa&m
88. Which of the following places of interest has been recently included in UNESCO World Heritage
Site List ?
(A) Charaideo Moidams (B) Batadrava Than
(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary
88. TNIRG (@ SWFIT TF ¢TSS TR [ Afogy (Faq iferrs Teee 1 (207 ?
(A) BRIEMS G (B) 3wl &N
Q) AR = (D)  GTIelIE oI2 I 0llT Sree]
88. fwfiiie sy galer W @R T2fs Terwl [ afszRiR) BieR ifemiy Twve 2R 2
(A) BRIRTS T (B) <Gwl 2
(C) oAl S (D) GIE FAIZ IIT STeRRe]
88. e TR Hiehiurz, fafari ol giigen ehie (UNESCO) Jg0+i SRI SR TIRegsia Meremd
REREE IPUICI REIREC RS K
(A) =T HIM (B) ¥ZEST UM
(C) 9'd HeRhl (D) §'ATE ®UE AN 4 g
88. Tr=fcfad # § fore STreRtor Tt <l 81t B § IA&R! (UNESCO) farel forrerd worel g=it # wnfHet foram e
g2
(A) =SS HigSH (B) SeEal oM
(C) HIe HeRhl (D) I ®UE I=AS1T AT
89. Which sport is the Davis Cup played for ?
(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Cricket
89. (GfoR 7 (FFRY (¥ETE A (T 27 2
(A)  @ERD (B) (6w (Bl (C) = (bfg (D) fesd
89. (TN TIGRI (T o (¥eTl = 2
(A) TJreRT (B) (BRel (G (C) =W @R (D) feco
89. <fow FHUE! 9 AEEAEAEMN U@ T ?
(A) wefiea (B) daa <9 (C) =+ ™ (D) Toee
89. <fow v fhw ©a & foIw Wen S &2
(A) Sefied (B) <o & (C) @M fm™ (D) foehe

Paper-1/ D 42



90. Which of the following countries is NOT a permanent member of the United Nations Security

Council ?
(A) France (B) China
(€) India (D) United States of America

90. RS (@ (7l IR Faisiel »Ifiava ZIE swop 2 2

(a) @ (B) O
(C) wike (D) SRR Je1g

90. <Iod @ it Trifekead f=isial sifdama =i s /g 2

(A) @™ (B) ©M

(C) ©R® (D) I ge=Ig
90. TITEMEITE ST STel BN ST B Xt SAThief S e e 2

(A) W (B) =M

(C) 9Rd (D) STHRER S TR

90. frfafEd H ¥ &M 91 <0 g Uz GL&T IS i IRl 95 7 © 2
(A) e (B) =

(C) 9rd (D) EgH T AH R

91. Which country was involved with India in the Doklam incident of 2017 ?
(A) China (B) Afghanistan (C) Bangladesh (D) Myanmar

91. 2017 5K TFAN FUS OO (TS (Fie (¥ TG SifeeT 2
(A) B (B) TSI (C) eIl (D) TSI

91. 2017 AER (ST GO ST AT (@ (%] Tow (=& 2
(A) B (B) Bl (C) eIl (D) SR

91. 2017 HEAEM SHA™ SNAEE d¢ BEd YRS TSTERSIEIHN 2
(A) = (B)  SATHITE (C) dicew (D) THER

91. 2017 H Siohci AT § YRA o TN i T <0 IMHA o ?
(A) = (B) STHMITEM (C) dee® (D) TER
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92.  Which of the following is a non-renewable source of energy ?
(A) Wind power (B) Hydropower (C) Solar energy (D) Fossil fuel

92. RIS 7My2T (! *fex S iay T ?

(A) e (B) Tmife (C) TIwfE (D) SR 3F
92, TIHA (D ST =feq e 2

(A) IP=fE (B) @R ¥f& (C) ORI (D) G Qe
92. TR S Al RIGHST H ?

(A) @R - Srel (B) T - dral (C) Ui wfem (D) e St
92, Tr=fafEd § § -9 Sl o1 TR--Teeuia &id © ?

(A) & St (B) w1 foma (C) TR (D) Sfamed A
93. The national flag of which country features a dragon ?

(A) Bhutan (B) Singapore (C) Japan (D) Myanmar
93. (IR (PR SIS OIS (Gold B SCZ 2

(A) o (B) Talisfg (C) Tl (D) SIS
93. (I (MC*F SO IT *IOIFIT FloITd &R SR 2

(A) OB (B) PrErsm (C) @loe (D) SRR
93. 99 T Rfhemae g § 2

(A) YdH (B) T&EmgR (C) SmUHA (D) WIMAR
93, o I & T e W T Hfhd § 2

(A) M (B) fEmR (C) S (D) TMR
94. Rabindranath Tagore was awarded Nobel Prize in Literature for :

(A) Ghare Baire (B) Gitimalya (€) Gitanjali (D) Gora
94. (FICH! FoT A TN SFFCI ARG (NI 61 oM@ Ffee 2

(A) 9IEIABE (B) STifoxen (C) Trelgh (D) (Al
94, I I NS @R SRR A TR (T 2420 T 2

(A) TEARE (B) MfowiEy Q) Meigl (D) coliRl
94, A AT YA T ARG A’ A& TR Sie) 2

(A) R SR (B)  fifaarern (C) firaredt (D) 79
94, TEEAY SR &l ford i & faQ A § Ao PR 9 FHATHG foha T o ?

(A) R SR (B) Tifaarex (C) Tiarsita (D) T
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95. The highest gallantry award of Indian military during war is :
(A) Maha Vir Chakra (B) Param Vir Chakra
(C) Ati Vishisht Seva Medal (D) Ashoka Chakra
95. &I WIS SRS AN T [ A T1g 61 (2= 2
(A) T IEOF (B) RN IToF
(C) wife [Jf¥E el s (D) SICHIF b
95. IGFICH AN SRS AMNRS AT 7 A TG 7FFE 25 2
(A) TR (B) RN
(C) wifs RS Rl GIws (D) SIC¥IF b
95. SrEl-FHTE YRR HHTAHSH! er S RIS e :
(A) HeIfeR <sh (B) T foR =k
(C) Afa fafera Fam oca (D) 3T <%
95. I§ o SN ARATT T H Fait=d Al IR T :
(A) R =h (B) TRHSR =h
(C) afq fafre Gen v (D) WM =k
96. What would replace ?? in the triangle set ?
' I (5)
@@ @@ @@
(A) 9 (B) 11 (C) 10 (D) 12
96. fage WIS GR 2?2 T & W7 A7 2

(4) (8) (5)
®A® @A@ AN
(A) 9 (B) 11 Q) 10
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Fegfefba 22 B T efegifore o= 2

AN A

0 (D) 12
96. Wﬁ@xmw ??@W@W?

A

96. T3 T s O § 2 7 o1 T A TN 2

A

(D) 12

97. If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?
(A) 32 (B) 67 (€) 50 (D) 55

97. T A =26, B=25, Wi qrwd SN[ (o Z=1 T, (50T STAR I 5 (Noizre] fFalley 292
(A) 32 (B) 67 (C) 50 (D) 55

97. M A =26, B=25, €32 O3I(d U Z=1 T, O&@ STAR &3 (5] 9 Z(J ?
(A) 32 (B) 67 (C) 50 (D) 55
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97. fc A=26, B=259Mfc Z=1 a9 STems], 37eeh STAR T SSerm&en s S ?

(A) 32 (B) 67 (©) 50 (D) 55
97. A A=26, B=25, 3R M Z=1TF 3 ¥HR §, A STAR I 3T 1 &1 2

(A) 32 (B) 67 ©) 50 (D) 55
98. Which word features less than four different vowels ?

(A) Promotion (B) Sustainable (€©) Question (D) Potential
98.  (FICH! *7© BIfGroce T A forl fom Faaef Wil 2

(A) Promotion (B) Sustainable (©) Question (D) Potential
98. (IR *FAOCS HRGa T fon eimica Faae wiCg 2

(A) Promotion (B) Sustainable (©) Question (D) Potential
98. TR sl Hiared HAsIf+ TH T gl g ?

(A) Promotion (B) Sustainable (C©) Question (D) Potential
98. Tohe weg # 9N § &w fum T e ©2

(A) Promotion (B) Sustainable (C©) Question (D) Potential
99. Identify the set that does NOT follow the common rule as others.

(A) 2:8:64 (B) 4:064:216 (C) 6:216:512 (D) 5:125:345
99. SPTRS TCARS R TR SerRel 7@ ql RO belle 7 |

(A) 2:8:64 (B) 4:064:216 (C) 6:216:512 (D) 5:125:345
99. SEIC NCO! G2 ARl T Sl 7 1 A6 bizre T |

(A) 2:8:64 (B) 4:064:216 (©) 6:216:512 (D) 5:125:345
99. TREM F& YFU TEAHR A= S "9 1 W= ?

(A) 2:8:64 (B) 4:064:216 (©) 6:216:512 (D) 5:125:345
99. I U HI TEAM L S U I T T F1 1 et & w1 §

(A) 2:8:64 (B) 4:064:216 (©) 6:216:512 (D) 5:125:345
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100. Identify the word with no pair of consecutive letters placed together.
(A) Alphabet (B) Partner (C) Rightness (D) Station
100. (PIC! AT R I GCFaTes] 7L *A0o] e T |
(A) Alphabet (B) Partner (C) Rightness (D) Station
100. (I GFCETT] T I AT SaEe Al ==l Hiere e |
(A) Alphabet (B) Partner (C) Rightness (D) Station
100. TR & HiaTerel Sd HIie or gl o ?
(A) Alphabet (B) Partner (C) Rightness (D) Station
100. 3H 73 1 Y= Y TSTHH AR &R 1 <hig SiTel Teh |y 1 Tl 791§ |
(A) Alphabet (B) Partner (C) Rightness (D) Station
101. How many milligrams make one kilogram ?
(A) 10 (B) 103 (C) 104 (D) 10°
101. @< fFcavtems 3o Fme e e
(A) 10 (B) 103 (C) 10% (D) 10°
101. 7 il & feestian =7 2
(A) 10 (B) 103 (C) 104 (D) 106
101. =% fafemmsi | foret am S 2
(A) 10 (B) 103 (C) 10% (D) 10°
101. fora firefiom & T fohelom™ a2 2
(A) 10 (B) 103 (C) 10% (D) 10°
102. Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kms, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?
(A) 18 km (B) 12 km (©) 9km (D) 10 km
102. (RIIZ =] o[ Sif*6x =it 51 .15 98T 5a112 92 el #1119 23 | ©i2 ACTIE IR = =65, =91 5w

DI TeifFe 27 | 330 ©iF 77 AN free! 97 =i 311 6.1, 181 5712 oiz =i sirtat | 9 ©i2 53 b

BIEeTS AR P& 717, (O0F ©I29 ¥ S SIRFHS AE Paos B9 7y Bl 232
(A) 18 .. (B) 12 .M () 9 M. (D) 10 .5
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102.

102.

102.

T ©lF AT (A =163 eE o 7., 9l I, (@ (1 930 ET Sifoems S | (1 A Wi (e
T @3 = .81, ST BT 1oitaa (e (<71l | QT (1 ST <iiTvss e il 136,30, aifS miferc wifzee
TR | @7 I FRERE 51t AR TR Fraie (717, Sizee o Y @R SIRFER T Paos 7y Fo
@ ?

(A) 18 .M. (B) 12 R.f. (C) 9 =H (D) 10 &M

afvrarn maf 7' Gty o fore frer MR wrere aret S faer e 16 arear | for sfafti
fifdT ' ffa fier oM 2T SR dea | forll @ eeme srfafy fifdam i fore 'firer i
HIAIAAH T Aagfad diedl | S[fe ol drEchal AramaH g’ ammst arel, fof 97 o degfar
USRS IREISIERIRIC I

(A) 18 fw.fH. (B) 12 f&.fH. (C) 9 fwfa. (D) 10 f&.f.

Gifrr o199 =R 9 ufem it SR TR fordt T T €, el 98 Uk g IR I § | 98 91 % qedt ¥ IR
3 Yo U= Tk BT foRH T S TR ® | U] 9% STUH Hierd 7 Tgen o fae e § a1d gedt ®
3R IRE Tt o TS Tt § | AfE 9% GEfhe W widwe o F1 i ot 8, @ $9% R iR e &
e =AqH e g 1 g ?

(A) 18 km (B) 12 km (©) 9km (D) 10 km

103.

103.

103.

103.

103.

Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?

(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

@fEre @ Fa =111 9 bR yaws 45! o gimca (eIl e | foike e (od Gitaics 901 wiiss 4 5[
(I g F SAIT0a | 3T (08 771 PRI 901 9= 9 Fib (A (@€ B9 «F | ({C FiTe (o
AERCT (I % 2 WO (NG F | (fRe Gfod @ Zee == [l rage 061 2

(A) 4 TGR (B) 13 o™ (C) 22 FER (D) 6 TG

@Ifes @ (A 1= e 20, TR 7@y 9 fioR | Foikee (1 i s e (10 @3k 4 6 &0 g0 5=
IR | (1SR CRMEE GG (73 =% 9 ORI 17g (05 (@0 (TR | (@ (TP (10 GG (73 = 2 WoE
G| @S @ (ACF T I ST ?

(A) 4R (B) 13 fio® (C) 22 o= (D) 6 foR

Sifean serehfwR fishfam 9 fier emem | fishra fort strretf ffdam 4 fger ememA™ sqema S | fo=
SREE AR FfAm 9 frer faw ememl | 3@ ol sfafy fiféam 2 ffer emem | <ifed s wa
Y TSI T ?

(A) 4 R (B) 13 fer (C) 22 fAer (D) 6 fHer

Hifed etk ¥ Tt ok <erar & S 9 Ter it gt W ¥ | fifeh R 9 31d got € 7R =g i iR 4 HieX = T

e T IR R g Fea1 § 37R ¥E qeh 9 Hiet oht T 79 el € 1 38 W 98 Jf 7R gt § 31 2 Hiex Jerd
T oiifed =tk | fopat &2

(A) 41X (B) 13 HiX (C) 22 #HrX (D) 6 HIX
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104. Which set of letters would fill the gaps in :

MAK, LEL,[ [ [ ], JoN, 1uo

(A) JKL (B) KIN (C) KIM (D) JLK
104. MAK, LEL,[_| | ], JON, IUO ¥ R Bz (FIRCs! a90efor =49 o 2

(A) JKL (B) KIN (C) KIM (D) JLK
104. i =efsi®Y MAK, LEL, [ [ ], JON, IUO - 9 w&fe =arzia 71 s 2

(A) JKL (B) KIN (C) KIM (D) JLK
104. TR o9 B YU el SEET 37 @rems e - MAK, LEL,[_| [ |, JON, [UO

(A) JKL (B) KIN (C) KIM (D) JLK
104. e 1 -9 T9e MAK, LEL,[_| | |, JON, IUO ¥ fism T =i wam 2

(A) JKL (B) KIN (C) KIM (D) JLK
105. Which one of the figures is different from the rest ?

105.

105.

105.

@&utu]
1 2 3 4

(A) 2 (B) 4 © 1 (D) 3
(PICE! o SwCaiss Tee [l 2

@&utu;
1 2 3 4

A) 2 (B) 4 © 1 (D) 3
Paufler T @Rt Sel@ (A SEm 2

1 2 3 4
(A) 2 (B) 4 Q) 1 (D) 3
el HITY G TEIARRIAHRR AT
@ G | ]
1 2 3 4
(A) 2 (B) 4 © 1 (D) 3
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105. 3THfaa § ¥ HH- A9 il F fu=r &2
@ S=g== ]
1 2 3 4
(A) 2 (B) 4 © 1 (D) 3
106. What should be the missing number ?
69|15
8 12| ?
41610
(A) 18 (B) 16 ©) 24 (D) 20
106. S=IES IO [ 27 =115 2
69|15
8112 ?
41610
(A) 18 (B) 16 (C) 24 (D) 20
106. Sg7(FS 74l [ 26 TH 2
69|15
8 12| ?
41610
(A) 18 (B) 16 (C) 24 (D) 20
106. < G ASI 376 WA S ?
69|15
8 12| ?
41610
(A) 18 (B) 16 (C) 24 (D) 20
106. STUfeer T a1 B =nfen ?
69|15
8 12| ?
41610
(A) 18 (B) 16 ©) 24 (D) 20
107. Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather
107. IUF Mg ASF (g7 G GRS 2B FIT TR CCS (6 RS TS 2
(A) Py (B) ©Iy © (D) <
107. 01 S BT I GG 0 | T A0 2T FITH F75(F 1 2
(a) foret (B) ©R (©) = (D) I
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107. Tt fommn gt fomfs wree’ fremsi | gt fremen TS 71 S s 2
INERERD (B) o1/ %em ) fo=d (D) foar
107. T=I1 1 A U= o faar i sehairdl ot § | 9T o °fd o1 TR 9 9 Hay § 2
(A) fo (B) e (C) =m=n (D) T
108. Identify the next set in the series :
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W Q) Q7W (D) P7X
108. L3P, R4W, Y5E, G6N *R<4eNhR #i5ae ! 7k2fech! foriie 355 |
(A) O7V (B) R7W (C) Q7W (D) P7X
108. 2We FHH “TS! AcEfefb Hizre e |
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W (C) Q7W (D) P7X
108. L3P, R4W, Y5E, G6N HIiEme Sere A4 el -
(A) O7V (B) R7W Q) Q7W (D) P7X
108. sJ@al L3P, R4W, Y5E, G6N, ? , H 3Tl ¥ ol Tgdm |
(A) O7V (B) R7W (C) Q7W (D) P7X
109. Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?
(A) 72 years (B) 80 years (C) 78 years (D) 76 years
109. @30l Were & (2l fof agi— 7', I i< Sriiviers IX010 39 (1912741 84 I | BIf T2 #I 1 (€T
TR I (N I e 2
(A) 723 (B) 80 (C) 783 (D) 763
109. o9 397 - T, T G TS, AT STl G52 it - (G 9197 84 I | BIF I N9 ©ITd (15 309 9
ey 2
(A) 723= (B) 803 (C) 783= (D) 76 IR
109. UM AFMHRRMA - 5F, S, SHARYE, ST SIHAHEE GHaare) - SEeT 19 84 SR | sSers fa
TR SEieT ST SrEwE ?
(A) 72 9HR (B) 80 AR (C) 78 9 (D) 76 AER
109. o &l ~ W, ST TR S, fomeh e Tk € {5 § - &t ol S 84 99 § | IR 99 gl S Fed
3 1 oAt ?
(A) 7294 (B) 80 TH (C) 78 ad (D) 76 IH
110. If 9 < x2 < 25, then the correct value/values of x is/are :
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
110. M 9 < x2 < 25, (ST x I & A / NePTZ (F(T —

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
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110.

M 9 < x2 < 25 T, O @ x -7 WG W & 2
(A) 3,4,5 (B) 4,5 C) 3,4 (D) 4

110. SS9 < x2 < 25 S, Tl x T4 9R A / AHEGR
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
110. €9 <2< 25, AW x HT A HA T :
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
111. Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?
(A) 9%x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2—-1+2=12 (D) 7+2+4-2=14
111. BODMAS fazrs1 el [ af 54+2=3,5-2="7,10+2=20 S 10 x 2="5 J W(J {7 SepRe Tt 27,
(o0 AETHT 771 EHIITeT 2ol FfceT MR s (@R Sfe g 2
(A) 9%x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2—-1+2=12 (D) 7+2+4-2=14
111. I @F MIW5+2=3,5-2=7,10+2=20 €32 10 X 2=5 T, ©& BODMAS T I IV (A T

111.

111.

a\elell T AT 1o (0 &7 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
Q) 6x2-1+2=12 (D) 7+2+4-2=14

IR T AT 5+2=3,5-2=7, 10+2=20 3T 10 x 2=>5, 376 BODMAS T 7@ 7afe"m Arafhm
STRTRTTY fedTe WiemHaieel TR ol 4R ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2—-1+2=12 (D) 7+2+4-2=14

Ifg frEm 542=3,5-2=7,10+2=20 3R 10x2=>5 Ha&dl ¥, @ BODMAS &l 3@l &d gL, a8 4§
T Y 3R AT HE R Frefafied 3§ 9 we-a1 98 g 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
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112. How many squares can be identified in the figure ?

(A) 21 (B) 18 (©)

112. oo} HAGre TG I9(TFa (A T 2

(A) 21 (B) 18 (©)
112. =ve foca 3 35l fHfze =1 ai@ 2

(A) 21 (B) 18 ©
112, SEMREE JF 99 a7 A |4 2

(A) 21 (B) 18 ()
112. fe3 & o= ¥ fovam o1 9g=m <1 9ehd © ?

(A) 21 (B) 18 ©)
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113.

113.

113.

113.

113.

Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

MEFCA AIHR AR R [ A | (0 7[R =19 7@l 9198 IR 96! sifenfere Tofge 24|
(OET NG e ALC! GBI (5T (FbeT® (*1F (7CR; (AT (AT =N5iCet 51°CaT bl eiers wiiez | Refmpteraiae
G eie SRFS 2

(A) W (B) = (C) 6w (D) T

NEEAE O ST T KR SR 2@iem 21 G 5-7WS (AT Q! 8F FE@ GFo G
I | AWM AT G0 @TACHHIE T ZCACR, IS AN I | ReRme @i M 2

(A) wfEe (B) & (C) =If*5x (D) TeA

ATghell TG &1 Hepaaiaierard i | folt Arsitwm SfiaRamH Ay A Geeme SR |

ST AR Y& Lo Araeiedl, disit e BSEmE diedl | geEaidrasn g forsi ?
(A) HreTEl (B) HISTEl (C) HrrrEl (D) Hw@

3T <X THeTT o ToTT Asehel ol foafa=iierd ST € | 918 Jd ohi el oieht 370 =R § Y& gt iR U IRIe
R U 9E SR H GSH Th {09 WY W G Bt T Sk AW i Heh W Y Tk IR T
foaryafoeme fog fam & &2

(A) <faqo (B) Td (C) ufv=m (D) W

114.

114.

114.

Which of the four given sequences would be meaningful for the words ?

1. House 2.  Street 3. Room 4. Town 5. District
(A) 3,1,2,4,5 (B) 541,32

©) 31,425 (D) 5,4,31,2

1. W@ 2. J® 3. @l 4. 9 5. T
B *FITZF AN AN TP (FITCH! T LT 2T 2

(A) 3,1,2,4,5 (B) 541,32

©) 31,425 (D) 5,4,31,2

ANE B @ M (P SR Gy S5 27 2

1. e 2. AW 3. T 4. g 5. (@&l
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2
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114. TMEEM & ST FIRET BAE WeEhRE! ST M W e ?
1. A’ 2. oM 3. @'wa 4. AR 5. TSen
(A) 3,1,2,4,5 (B) 541,32
(C) 3,1,4,2,5 (D) 54,3,1,2
114. feU T =R T § ¥ -1 37 veai & fora wrefes grm 2
1. = 2. WS+ 3.  ®EQ 4. TR 5.  fSen
(A) 3,1,2,4,5 (B) 541,32
(C) 3,1,4,2,5 (D) 54,3,1,2
115. If ROCKET is written as TQEMGYV, then what would be the last letter when RAINBOW is written

115.

115.

115.

115.

by the same code ?
(A) 2 (B) Y © A (D) U

T ROCKET ¥ TQEMGYV fZ51td $°C 91 =, (0% (6] ' RAINBOW fifRicet 3019 wifes 2<((51
2] ?

A Z B) Y <© A (D) U

M ROCKET & TQEMGV 2@ (12 =, SIRH @2 7ES aidl RAINBOW (&1l Z(& (¥1F S FI
[ 2

(A) Z B) Y < A D) U
fe ROCKET @ TQEMGV fatAr iRl steat of TQ Fesii RAINBOW feReat Si@ien gi@ist o1 S ?
(A) Z B) Y < A D) U

Ffe ROCKET & TQEMGV & &9 H forar Sl €, a1 SHT 1S g1 RAINBOW o1 fereq W Afaw e1er o
BT ?
A Zz (B) Y © A D) U

116.

116.

116.

116.

116.

Which of the following words is correctly spelt ?

(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
SRS (P! =9 A &S o1l @i 2

(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
T (P (o= AT I 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
TETA( s7el HIKTSIf ST 91 2

(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
frferfad o @ =i 1 v W o+ | feran T e ?

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
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117.

117.

117.

117.

117.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (C) Piyush (D) Om

#If5 91911 (@G Charles, Harmit, Om, Piyush 9% Tapan ¥ Circle (3€), Pentagon (#1%g%7), Trapezoid
(GfIf&1w), Hexagon (ITg&) BNi% Octagon (1wer) Sifn eififess baeryzs armibics Aifb &1°<tet (R
2| 5 26 (@ (SEEIRT TAG! ANE SMRET GICS (9SG A @R Baw 3xaré s sl fifer
@RI ol 975 @ Om T @ 55 GTAIF FHIEIIE (F41 2F | Charles, Piyush $i% Tapan 3 foqe 2
IR FYGEH APRAT(F fEF | Piyush Si< Tapan I f5@® Charles 3 Hae(d I3 7R27F A2 2T |
Circle (3€) 51 (I b Caifeet 2

(A) Harmit (B) Charles (C) Piyush (D) Om

Avee A5 RIS (90C6) Charles, Harmit, Om, Piyush @<} Tapan (F ififes @ Circle (3e),
Pentagon (#1%g%), Trapezoid (Gfifemm), Hexagon (I¥ge) @3k Octagon (TBYE) G (@ (PICA
&5 [z Fre 79 Tl | ivE @3 *1$ (el feet (@ oAl teiE @5 @36 B e PiFEE |, @
bafba MR 22w SFFa I W 2T SRS A €321 Om @3 Halbrs 05 «eie! s @2
JCCR| Charles, Piyush @3} Tapan ‘DQ—\Q/CW o @ ARG B @z Ner | Piyush ¢} Tapan @9
5@ Charles <3 5@ (2= T A= 257 | Circle G\ T (& wreTles 2

(A) Harmit (B) Charles (C) Piyush (D) Om

Tren faferell ®UTERR Charles, Harmit, Om, Piyush i Tapan @l ETHR HHw H’HHS‘IT{:T i
Circle, Pentagon, Trapezoid, Hexagon AR Octagon @l 9@ AE arifeEel | faarfe e e
SAME S TaraE At G |y eSS aemiEt sufEan | Omf arermfen S fam st 99 |
Charles, Piyush 3TRI Tapanf™ SeRTRGRET STE-2rsiT ST 3@ | Piyush 3T Tapan@l Charles™
e WA | Circle Bl 9R 9@ @t ?

(A) Harmit (B) Charles (C) Piyush (D) Om

i hedl Charles, Harmit, Om, Piyush 3R Tapan ET| Teh Ueh SAHAA ?HH?FCI =) ?\Fﬁ ED forq et
T : T g4 (Circle), T =0 (Pentagon ), T HHAH (Trapezoid), T F2YS (Hexagon) 3R Th
3TEHIT (Octagon) | ITh! I off Rl hI5 Wl TET SMHfd & o Hehell TR SUSH T8 1 T8l &R 3H
fed o TS A9 % Ul 318 % THM 2| Om & TEeH H HHMIR w@sil &1 faaga T Sier 7|
Charles, Piyush iR Tapanﬁ =qYS | 31fes Stetl At a@ﬁﬁﬁ keuill Piyush 3R Tapanﬁ STl
%I YT Charles S 3TH{d ¥ %4 off | g0 =1 fme 331 ?

(A) Harmit (B) Charles (C) Piyush (D) Om
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118. What would be the middlemost digit in the smallest number that can be made using all the digits
of 8936217 ?
(A) 3 (B) 6 © 7 (D) 9
118. 8936217 TGN SRH(H2D! IS FE I FQ A= JJeTos A 05 Giisliers (@It =k A 2
(A) 3 (B) 6 © 7 (D) 9
118. 8936217 &3 ANE THLT IR T #A1ST FOow TR 55 Warw w& i F1 77 2
(A) 3 (B) 6 © 7 (D) 9
118. 8936217 1 T AHTHIRRG! @M T R JAgg gefae ST TSR oRTe o= WHSHT 1 ?
(A) 3 (B) 6 © 7 (D) 9
118. 8936217 % |t 3iehi 1 ITART Fleh TS S FTel o B TEAT T HLAH 31k 31 3T 2
(A) 3 (B) 6 © 7 (D) 9
119. Which of the following is NOT of the same set ?
(A) Cash Payment (B) Mobile Banking
(C) Debit Card (D) Net Banking
119. =R T2F @FEG AT (9157 SO T2 2
(A) =5 ARty (B) (RIS @R
Q) CREIE (D) 6 @R
119. (R Twle @R @32 (PR T8 2
(A)  =oIt7 BIF ewis (B)  GIRIZe yigiaRe
Q) (SRTIE (D) 6 iR
119. TRMEM Jo= TE IR TT?
(A) e T S BAE (B) Hegd difdh
(C) <fae FE (D) e difsh
119. frAfafEd § 9 &F W T & Iqg F1 T8 © 2
(A) THT TAH (B) WA SifhT
(C) efae =i (D) 7 e
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120. Statements : I.  Non-metro cities in the country have been suffering due to load shedding

for quite some time.

II.  If the Government is not able to overcome the power crisis, load shedding
will be extended even to the metro cities.

Which of the following conclusions can be drawn ?

(A) Both Statement I and Statement II are effects of independent causes.
B) Both Statement I and Statement II are effects of some common cause.
Statement I is the cause and Statement II is its effect.

)
D) Statement II is the cause and Statement I is its effect.

120. & 3 I O TGl A2 523 e (Ao (+ifea A1t 0@ e o[t 8 gt ifacz|

120.

120.

I W 53pIca Rgres 350 w1 SR @RICE, (O0% GG 523 TS (@6 (4T Tepifte
Tq |

f=fefes @R Fraige Toe 24 #ifF ¢

(A) & 9= T @ 11 YRG! ToF F96T A (271 &4OR |

(B) ¥f& I oI B I YIB! (I BCI20 R e A (2R 2OR |
(

(

Tf& 1 (202 I =< Tf & 11 (202 9 2o |
TS 11 (202 T4 o= Tf& 1 0202 39 2@k |

@ee: L g a3z kg R O3 T (esR F9-T310)1 *RA e oz |
I &SR e 736 ST Tors a1+ (NG *z@e e gl wige 2@ |

R TS (&R GoprReRbes (TR AR 2

A) Ty gl 1 g3 [Jgfe 11 7idlm e gk |

B) Tex Jfel @k RIS 11 92 FiRer 9o |

Q) fRfe1=z srd w3 /RS 11 == ~Afetiw |

)

(
(
(
(D) TRz Fiel @k YRS 1 =7 ~ifeiisr |

foefaic: I AR 98 FRRERT S ged Hifsed TRAM™ (Load Shedding) T 1@ amaf o
S HEEI ST |

I S OE Hifserd eI sTiEmeral |ig-! grmeet Hifserd TRATAT ARTRATRR FH T |
TR &6l SARE@! ASaH! g -
(A) fasfar 1 5 faefer 11, Jqen 391 SeFf S
(B) Tarsifer 1 3R faraifer 11, el <'ome SRAf s
(©) fagfar 1 o1 SR o faefa 11 en faf Sew
(D) fagfer 11 311 SR 1R fargfer 1 =71 fafs s
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120. ®eM: I S0 % IR-HI IR AW HHF § Al IfET it I | SF R© ¥

II. 7R TR fosfell Yohe ¥ 3o 121 Ui dl <ire DfET o1 S el vl ek off 91 s |
frafafea o | =@ @ fey fHerren ST e € 2
A) HUF I ARFHT 11 IHI T HRON o J97E % |
B

FHIA I ARHYT I 21 TohEt HHTT HROT h U & |

~—

(
(
(C) HITI FRU T AR HY 11 THH I9E T |
(D) YT 11 FRU T SRR [ SHHI T4 T |

121.

121.

121.

121.

121.

What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?

65130 ] 7 []15[]5=15
(A —, =, +, — B -, x,+, -
<) +, -, x, = (D) +, =+, —, —

(A€ f=F 2@ G =itsT sl F1 2 BODMAS fo=tst siiesiel F€) 65 [ ] 30 ] 7 [] 15[ ] 5 =159
OF @7 AN 2R FNER NfAfeT Hz T swee Fa dif 2

(A —, =, +, - B -, x,+, -

© +, -, %, + D) +, +, —, -

GG AfGF AT (ATS 1 aMiffes Szl qeEm AR 71 @ 21 (BODMAS o 6 N
(TS T 9l T 2ACR) ?

6513017 []15[]5 =15

(A —, =, +, — B -, x,+, -

<o +, -, %, + (D) +, =+, —, —

9 AEHSIR TEARRE! SHEE 9R FHHAEE! 91 R (BODMAS 88! AafqaH, Arfafws
eI fewme wrerHsien) ?

6513017 115015 =15

(A) —, =, +, — (B) —, %X, +, —

Q) +, -, x,+ (D) +, +, —, —

TEl FHIRIOT (BODMAS i STSET i g ST | T UMY W A & FeTq shaen: &A@ wifvrda fag
9 T S § 2

6513071155 =15

(A —, =, +, — B -, x,+, -

<o) +, -, %, + (D) +, =+, —, —
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122. Which two terms would come next in the series :
24, 26, 35, 63, 48, 124, 63, 215, ?, ?
(A) 76, 430 (B) 83,310 (©) 99, 511 (D) 80, 342

122. 24, 26, 35, 63, 48, 124, 63, 215, ?, ? *RUAGR 2/TS! FITS (P ¥o! A7 A2 2
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

122, 2VE TGS 270 (i 16 A | 2
24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

122. TREM 99 | ARG S gea 319 A 24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

122. ST 24, 26, 35, 63, 48, 124, 63, 215, 2, ? H 3TN &iF ¥ T Ug T 2
(A) 76, 430 (B) 83,310 (C) 99, 511 (D) 80, 342

123. What would be the Arabic numeral for MMCDXLVII ?
(A) 2,567 (B) 2,457 <) 2477 (D) 2,447

123. MMCDXLVII I (3 S_JT FLLII6! 5 29 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII &3 3= 712 & 27 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII 7 3TR& HfSH™n |11 ST ?

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII & f&u eRel 3ish &= 81 ?
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
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124. Statements : All pencils are pens.

All the pens are inks.

Conclusions : 1.  All the pencils are inks.
2. Some inks are pencils.
A) Only 1 conclusion follows

~ A~ o~ o~
N ™
-

Only 2 conclusion follows
Either conclusion 1 or conclusion 2 follows

Both conclusion 1 and conclusion 2 follow

124. i 3 FSCEAIEIR (oIfReTeT2 T |

AR FoICN2 DR |

Pags 1. FEIER eifRecEs B

124. f3fe

TS

Paper-1/ D

2. g fafel tarm coife |
(@7 % 1 © Tore 21 i |
(&7 PTa% 2°© T e 29 AR
g 1 512@1 2 © Toare 29 17 |

1 9% 2 T Paiwre ToaTe 29 AR

g IR (AT PeT |
I oTeE BIfe |
a3 1. W (e e |
2. g 3ifer (ol
WY THAEE 1 SRPRe FE
YA TP 2 SEPIRe B
= TP 1 9123 TR 2 SR IR
ToT ToIRAT 1 G3R TR 2 SIRe FCH
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124.

124.

fagifr: el SfEen HaHER
TS AT WIFARR
eI : 1. e If-ael TIfasR
2. THENH AR IFaah
A) 1 SEYRETd’ TR

C) 1 7STeel 2 IFI TR

(
(B) 2 SeI¥NETe’ TR
(
(D) HHHE, 1 3R 2, TR

wmo oot fael 39 T
gt 97 @ ¥ |

fremd . 1. @eft dfad @ €
2. S R | )

A) ot FeRd 1 R Tg S S

B) oot fTeRd 2 W g S ¥ |

C) = freerd 1 o1 frreerd 2 W wg T S ¥

D) fremd 1 3R Freert 2 S W g S B

125.

125.

125.

125.

125.

Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

GF NF I SfaiTe MR STerEs @R =@ FHeRs A 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

Rl rafEr T @Hb 9t Sl 3Es sifedieg G anffe 3@ 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

TMETTE BRI R TSI, e diarell JAE] 3Usi Hiard fogate e I ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

Frefofad veel § 9, T it T § STHaTe iy vIsg HIF 91 2 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE
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126. Identify the incorrect Roman number.

(A) Thirty six : XXXVI (B) Ninety nine : XCIX

(©) Seventy four : DXXIV (D) Nine hundred : CM
126. S&% (SIS RGN el 5 |

(A) = ¢ XXXVI (B) =R 2 XCIX

(C) (>PTes ¢ DXXIV (D) ¢ CM
126. Siwm @ =G Hizre e |

(A) =& XXXVI (B) fe=iwE : XCIX

(C) TR : DXXIV (D) «W*e:CM
126. RIS 4T WM s o™ ?

(A) g™ 5 & XXXVI B) TN :XCIX

(©) fafas:DXxxiv (D) SHT':CM
126. ToTd UHF HEAT 9549 |

(A) BUE : XXXVI (B) f=Ima : XCIX

(C) =E® : DXXIV (D) s d:CM
127. What letters would fill the blanks in

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
127. (06! 3 T=RE AO__BPP____QDR__ _ SSFTT 3 & ZPHz 7[5 F< 2

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
127. (P Iefasfer g 7 F9c3 2

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
127. 99 TGRS MGl STEET 3716, WA ST ?

AO__BPP__ __ QDR__ __ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
127. AO_BPP__ QDR ___ SSFTT # fiad T &l 4 ¥ 318/ Wi ?

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
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128. What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?
(A) 9 (B) 2 © 7 (D) 8

128. T 65749 FRANCHIF 2T Fel AT 717 Kol 741 27, (ST FAFAGIN 05 @Eisiiers 261 SFh! 527 2
(A) 9 (B) 2 © 7 (D) 8

128. 65749 (& O e (A [ T 5 TRiEs o=l F1 & 2
Ay 9 (B) 2 © 7 (D) 8

o o

128. 65749 @I Taf7 SHHSTRTAERR TG sl WA SHASHI ToRAR GHEiSHRET 17 2

(A) 9 (B) 2 Q) 7 (D) 8

128. 6 65749 1 9% A H H fean Sw of afond & 3tk i # HiF-91 37 g 2
(A) 9 (B) 2 © 7 (D) 8

129. Identify the word which cannot be made from CARBOHYDRATE.
(A) AHEAD (B) RETRO (©) YACHT (D) HYPER

129. CARBOHYDRATE T I3} 91234 S 1R 775! Hee 355 |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

129. (I %776 CARBOHYDRATE ((F (o<l 1 T =1 ©f ffzre e |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

129. TR ¢ Gee@ CARBOHYDRATE fwhm fegr grn ?
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

129. 3Y ¥ hl 9g9H, S CARBOHYDRATE ¥ -&l o=/ ST Hehdl |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

130. Which of the following is different from others ?
(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer

S N ey

130. WHRETRS T[S (NG SRS 79T 2
(A) «RBR (B) CHARRGR (C) wIFSRGR (D) @G RoR

Paper-1/ D 65 P.T.O.



130. ST (FH ST (A ST 2

(A) SRR (B) “NifaRGE (C) SELRIGE (D) SyIHCIRGE
130. TR To31 TEARRHRE S&T -

(A) THEfER (B) URfER (C) Tfeefrer (D) TfFm'fAeR
130. frfafad § @ wH-w1 gl 9 e g2

(A) TR (B) I (©) e (D)
131. Identity the odd pair.

(A) Pacific : Water (B) Himalaya : Mountain

(C) Vesuvius : Volcano (D) Mississippi: River
131. ST (R0 e T |

(A) o*IIg ¢ & (B) fawiery ¢ oRf

(C) TRl ¢ wcarifal (D) frfefefs ¢ @t
131. o (ool bz w5 |

(A) =g ¢ o7& (B) fewer ¢ »Rf®

Q) CofeaM ¢ SRR (D) Tifififs ¢ st
131. SR S e -

(A) Ufafrs @3 (B) Tfenrer™ . =S

(C) 4ghmm : 1w e (D) fafafafy . <
131. SIS SISl i 989 |

(A) TSI : S (B) Teure™ : wela

(C) =gfom™ : ST El (D) fufafafy . =
132. Philately is related to :

(A) collection of match box (B) collection of postage stamps

(©) collection of currency notes (D) collection of fountain pens
132. TFAICHTet Jfercet Ro wivw

(A) AGEIZ IFG HREZ (B) TR D Acag

(C) YU (T 7eZ (D) FICCHEA (o 72T
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132. RFeichlerg i’ ToifFw ¢
(A) TramenE @5 i ke (B) T % g e
(C) oICe™ @l A2 (D) Aol /TS (PGB (o) T
132. ToeT 'acii=n /ISl Q<! 1 2
(A) GATE TRy YA (B) €k fehe qYAE
(C) i foreTrs Jgw (D) TR=A YT (X)) Y™
132. ftRereeh fored deifuq © -
(A) wi=" 1 fessll 1 €U8 (B) ST fehel k1 €UB
(C) g1 I 1 HUT (D) IR UA H EUE
133. If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :
(A) 48 (B) 98 Q) 72 (D) 35
133. I WATER 3 IE FTHA 67 =% DRINK F @ F°C 7247 56 T, (8 RIVER F A& F'T A7 (202 ¢
(A) 48 (B) 98 Q) 72 (D) 35
133. I WATER &3 TJ (S 27 67 b3 DRINK @3 Gl T 56, ©IZ0e RIVER @ AFS 3(J &
(A) 48 (B) 98 Q) 72 (D) 35
133. WATER T &2l 67, DRINK 931 56, RIVER 7 a1 -
(A) 48 (B) 98 Q) 72 (D) 35
133. Ife WATER & fet i€ 67 & 3R DRINK % foTu 56 ®, oI RIVER & foiq =re © :

(A) 48 (B) 98 () 72 (D) 35

134.

134.

134.

Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?

(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours

e [fer fof Afe (o AT @i (@a9E! 43 191 itz 24 - IO IO EI7S 92 71 [F 27 2
(A) 03:15 9! (B) 15:15 9 (C) 13:15 %! (D) 23:15 9|

A e fo0! @0e 2! NG G €909 2@ | 24 - 96T ST ITR0! F1 (S 2
(A)  03:15 o= (B) 15:15 WL (C) 13:15 =H= (D) 23:15 9o
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134.

134.

o o

S 3 ReeT e fafera T Ierme! MREteHAT | 24-51 Jaare 99 T 99di S ?

(A) 03:15 F=T (B) 15:15 &= (C) 13:15 T (D) 23:15 5=

TS Tl I I SIoiah Uge e T 39 Tshel § 124 ¥ & YA W 98T 941 B0 2
(A) 03:15 & (B) 15:15 & (C) 13:15 & (D) 23:15 &S

135.

135.

135.

135.

135.

A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 ) 21 (D) 17

a5 -4 & 7w e Fifizs awl [ At aemE Sicg s 2ifs [ReRts Hidmma 7R 19
(ISR AW 7 27| DI A 4= Amtef wieiedrs eofar fHifdme @ 3, 3, 2, 6 e AR @
et | sl F2oR B wox Tt FifiTrzs ol W R 5 @i [ 2

(A) 15 (B) 14 ) 21 (D) 17

3T e =y d A (=@t 46 ReiTe #roa Rz (@it 73wl 7 | @2 <0 G sl fiesst 31 =7
R S AN 3, 3, 2, 6 T (74w | Bl =i 1 sjoa Rqefera (Il ioret ¥7e 23 2

(A) 15 (B) 14 ) 21 (D) 17

T Il T Seaf Sedl HIERRE o o< S Ssame 7 | His TS SRaEl G st
TG 3, 3, 2, 6 faf-erci | memfe o SreieR SrerermeEr -

(A) 15 (B) 14 ) 21 (D) 17

Teh D€ Tl fataa o H gHe fawid Tetent | foigail =61 4m 7 21 € 1| T8 =R 9 theh W &, 3T S
I W 3, 3, 2, 6 foig fom@mE T T 1 ST 6l DA o) Tershi B feigedl &1 o a4 = gm 2

(A) 15 (B) 14 ) 21 (D) 17
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